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A poem s a little like a photograph. It captures an important moment or expresses a
strong feeling. To get the most out of a poem, it helps to know that poems have a special
structure, or type of organization. Structure can refer to how the lines or ideas of a poem
are organized. Each line and stanza has its place. You need to put together the meaning of
all of the individual lines to find the theme, or message, that the poem is trying to convey.

Read the the poem below, paying close attention to its meaning and structure.

A boat beneath a sunny sky,

Lingering onward dreamily
In an evening of July—

Children three that nestle near,
Eager eye and willing ear,
Pleased a simple tale to hear—

Long has paled that sunny sky:
Echoes fade and memories die:
Autumn frosts have slain July.

How is the poem organized? What is the poem’s message?

The poet organizes the poem into stanzas of three lines. Think about what each stanza
means. Then compare your ideas with those in the chart.

.Stanzat [ o o7 Mainldea S
1 A boat drifts peacefully as night draws near on a warm July day.
2 Children gather happily to enjoy a story.
3 Cold autumn weather has destroyed summer fun.

Each line of a poem contributes to the overall theme of the poem. Look again at the main
ideas in the chart. Taken together, they convey the message that the speaker has fond,
pleasant memories of summer and misses the fun and peacefulness of July.

@Curriculum Asscciates,



Read the poem below in which the speaker talks about things he likes.

‘Motto by Langston Hughes

I play it cool

and dig all jive.
. That’s the reason
| _. 1 stay-alive.

My motto,
As I live and learn,
is:
- Dig And Be Dug
In Return.

Genre: Lyric Poem -

Explore how to answer this question: “What do you notice about the structure, or organization, of

this poem?”

Poems are often organized into stanzas. A stanza is a group of lines that form a unit in a poem.
Like a paragraph, each stanza has its own main idea. Taken together, these main ideas develop the

poem'’s theme,

Complete the chart below by filling in the main idea for the poem’s second stanza. Then explain
a theme of this poem.

" stanza |

Main Idea

Theme

Being relaxed and getting along with
people is the key to life.

With a partner, take turns rereading the poem aloud. Then discuss how the poem’s structure
contributes to the poem’s theme.
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Close Reading

- Each stanza conveys a
different feeling.

. Underline at [east two
“dletails in each stanza
‘that help create those

feelmgs .

Hint

_Reréad the first stanza. -
- What message do the

- first-and second:lines of -
‘the stanza suggest? -

Read the poem below. Use the Close Reading and the Hint to help you

answer the question.

Genre! Lyric Poe

The Heart Of a Woman by Georgia Douglas]bhn_sbh

“The heart of a woman goes forth with the dawn,
As a lone bird, soft winging, so restlessly on,
Afar oer life’s turrets and vales does it roam

In the wake of those echoes the heart calls home.

The heart of a woman falls back with the night,
And enters some alien cage in its plight,
~ And tries to forget it has dreamed of the stars
While it breaks, breaks, breaks on the sheltering bars.

Circle the correct answer.

Which of the following best describes a theme, or central message,
of the poem?

A

B
C
D

The heart of a woman is strong and can never be broken.

The heart of a woman is restless and often feels trapped.

The heart of a woman is happy and free to dream of the stars.
The heart of a woman is dark and dreary like the night sky.

Look at the answer you chose above. What words in that answer choice helped you know that it

is the correct answer?

urriculum Associates,

In a small group, list the words and phrases the poet uses to describe “the heart of awoman.” |
Then discuss how the poem’s structure helps support the theme.




The speaker mentions
the passage of time,
which may be a clue

about the poem’s theme.

Ul look for words in

each stanza that relate

to fime and may
coentribute to the
theme.

Close Reading

-T'h:e _sp'é_aké'f’_repe'ats the -
“phrase “I sit beside the -
~fire and think of” in the -

first stanza: Underline
“words in the first'stanza

-that explain what time -

~frames the speaker is
 thinking about. -

| .'I'Hé:sp'éake.'r_ 'b:e:gi_ns the

“second stanza with
thoughts about the
future. Circle the phrase
“that shows how the -
 speaker feels about the
“future at the beginning
of thisstanza. . -

148
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Genre: Lyric Poem':

I Sit by the Fire and Think by & & Tolkien |

I sit beside the fire and think of all cthat I have seen,

of meadow-flowers and but_terﬂies in summers that have been;,
Of yellow leaves and gossamer in autumns that there were,
with morning mist and silver sun and wind upon my hair.

I sit beside the fire:and think of how the world will be.

‘when winter comes without a spring that I shall ever see.

For still there are so many things that I have never seen:

in every wood in every spring there is a different green.

T sit beside the fite and think of people long ago,
and people who will see a world that I shall riever know.

But all the while I sit and think of times there were before,
I listen for returning feet and voices at the door. '
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Hints

‘Which choice describes
“the speaker’s thoughts in
the opening and closing
lines of the first stanza?

: -Whi_ch'sentence' inthe

“second stanza best .-

describes the speaker’s -
thought process from. -
-the start of the poem.
totheend? . -

What does t:he::spea'kei? .
-think about in the last.

two lines of the poem? .

©Curriculum Associates,

Use the Hints on this page to help you answer the questions.

Which best describes the first stanza?

A The speaker looks back on past events with sadness and
deep regret.

B The speaker looks ahead to future events with excitement,

The speaker thinks about the past and wonders about
the future.

D The speaker thinks about all he has to do in the months ahead.

How does the idea of time contribute to the poem’s structure?

A The speaker thinks about the past and then the future, and at
the end he returns to the present.

B The speaker first thinks about what will happen in the future,
wonders about the present, and then the past.

C The speaker thinks about the present autumn, then wonders
what winter without spring would be like.

D The speaker recalls sitting by the fire during his youth, and
remembers the sound of feet and voices.

State the theme of the poem., Give at least one example of a
sentence from the poem that develops the poem’s theme.
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Read the ballad. Then answer the questions that follow.

10

15

20

25

30

1508

Brennan on the Moor

a traditional Irish ballad

It’s of a famous highwayman a story I will tell;

Iis name was Willy Brennan, in Ireland he did dwell;

And on the Kilworth mountains he commenced his wild career,
Where many a wealthy gentleman before him shook with fear.

Brennan on the Moor, Brennan on the Moor,
Bold and undaunted stood young Brennan on the Moor. . ..

One day, on the highway, as Willy he sat down,

He met the Mayor of Cashel a mile outside the town;

The Mayor, he knew his features—*I think, young man,” said he,
“Your name is Willy Brennan—you must come along with me.”

Brennan on the Moor, Brennan on the Moor,
Bold and undaunted stood young Brennan on the Moor.

As Brennan’s wife had gone to town provisions for to buy,
When she saw her Willy, she began to weep and cry;

He says, “Give me that tenpenny.” As soon as Willy spoke,
She handed him a blunderbuss, from underneath her cloak.

Brennan on the Moor, Brennan on the Moor,
Bold and undaunted stood young Brennan on the Moor.

Then with his loaded blunderbuss—the truth I will unfold—
He made the Mayor tremble, and robbed him of his gold;

One hundred pounds were offered for his apprehension there,
And he, with his horse and saddle, to the mountain did repair.

Brennan on the Moor, Brennan on the Moor,
Bold and undaunted stood young Brennan on the Moor.

Then Brennan being an outlaw, upon the mountain high,
With cavalry and infantry to take him they did try;

He laughed at them with scorn, until at length, it’s said;
By a false-hearted woman he basely was betrayed.

Brennan on the Moor. Brennan on the Moor.
Bold and undaunted stood young Brennan on the Moor. . ...

©Curriculum Associates, LLC  Copying is not permitted.



So they were taken prisoners, in irons they were bound,

And conveyed to Clonmel Jail, strong walls did them surround;
They were tried and found guilty—the Judge made this reply:

“For robbing on the king’s highway, you're both condemned to die.”

35 Brennan on the Moor, Brennan on the Moor,
Bold and undaunted stood young Brennan on the Moor.

When Brennan heard his sentence, he made this reply;
“I own that I did rob the rich, and did the poor supply;
In all the deeds that I have done I took no life away;
40  The Lord have mercy on my soul against the judgment day.”

Brennan on the Moor, Brennan on the Moo,
Bold and undaunted stood young Brennan on the Moor. . ..

Answer the following questions.

A

B
C
D

m mQgnNnw p»

Y

©Curriclum Associates, LLC  Copying is not permitted.

Which of the following best describes the poem’s organization?

stanzas of two lines in which the end words of each line rhyme
stanzas of four lines throughout with every other end word rhyming
a pattern of two-, four-, and six-line stanzas with a changing rhyme scheme

alternating stanzas of four lines and two lines with a consistent rhyme scheme

Which best describes a purpose of the four-line stanzas in the poem?

Each adds a new theme to the poem’s meaning.

Each advances the story’s plot.

Each marks a new time and place in the chronology.
Each repeats the same phrase about the main character.
Each shows another aspect of the character's personality.

Each describes an episode in chronological order.

2151



Part A

Part B

1525

The structure of the poem uses lines of consistently similar length. Which best describes a
reason this text feature is used in the poem?

A It shows all events in the poem are equally important.

B it makes it easier for the poet to find rhyming end words.
C It allows the poet to create a steady rhythm throughout.
D

It makes the sometimes difficult phrasing easier to read.

This question has two parts. Answer Part A, and then answer Part B.

What effect does the repetition of the lines “Brennan on the Moor, Brennan on the Moor /
Bold and undaunted stood young Brennan on the Moor” have on the meaning of the poem?

A It reminds the reader that Brennan is a bad guy.

B It reminds the reader that Brennan is brave.

C it reminds the reader that Brennan is from the Moor.
D

It reminds the reader that Brennan is young.

Which line from the poem creates the meaning in the answer of Part A?
A "It's of a famous highwayman a story | will tell;”

B “He made the Mayor tremble, and robbed him of his gold;”

C “Then Brennan being an outlaw, upon the mountain high,”
D

“In all the deeds that | have done | took no life away;”

T des1- 2’4 Go back and see what you can check off on the Self Check on page 128.




AW COMMONLIT

Name: Class:

Growing Down

By Shel Silverstein
2011

: Shefdon Affan "She.’” S.'Iverste.'n { 1 930-7999) was an Amerrcan poet cartoonrst screenwrnfer and author of
children’s boaks: His books have sold.over 20:miltion copies. in‘the fol.’owmg poem, a speaker tells an odult,
- "that he should try ’:growmg down” rather than growmg up. As you read take notes on what it means to
' grow up and to ‘:grrow down” : _ R

[11 Mix a grunt and a grumble, a sneer and a frown,
And what do you have? Why old Mr. Brown,
The crabbiest man in our whale darn town.
We all called him Grow-Up Brown:
[51  For years each girl and boy and pup
Heard “Grow up, grow up, grow up.”
He'd say, “Why don't you be polite?
Why must you shout and fuss and fight?
Why can't you keep dirt off your clothes?
[10] Why can't you remember to wipe your nose?
Why must you always make such noise?
Why don't you go pick up your toys?
why do you hate to wash your hands?
Why are your shoes all filled with sand? “PhotonQ-The Qlder Stuff’ by PhOIONQuANTIQUE s licensed under
[15] Why must you shout when I'm lying down? :
Why don't you grow up?” grumped Grow-Up
Brown.




[20]

[25]

[30]

[33]

[40]

One day we said to Grow-Up Brown,

“Hey, why don't you try growing down?

Why don't you crawl on your knees?

Why don't you try climbing trees?

Why don't you bang on a tin-can drum?
Why don't you chew some bubble gum?
Why don't you play kick-the-can?

Why don't you not wash your hands?

Why don't you join the baseball team?

Why don't you yell and jump and scream?
Why don't you try skipping stones?

Why don't you eat ice cream canes?

Why don't you cry when you feel sad?

Why don‘t you cuddle with your dad?

why don't you have weenie roasts?

Why don't you believe in ghosts?

Why don't you have pillow fights?

Why don't you sleep with your teddy at night?
Why don't you swing from monkey bars?
Why don't you wish on falling stars?

Why don't you run in three-legged races?
Why dont you make weirdie faces?

Why don't you smile, Grow-Up Brown?

Why don’t you try growing down?”

Then Grow-Up Brown, he scrunched and frowned
And scratched his head and walked around,
And finally he said with a helpless sound,
“Maybe | will try growing down.”

AW cOMMONLIT



[45]

(501

[55]

(601

[65]

[70]

[75]

[80]

So Grow-Up Brown began to sing

And started doing silly things:

He started making welrdie faces

And came in first in three-legged races,
All day he swung from monkey bars,

All night he'd lie and count the stars.

He tooted horns, he banged on drums,
He spent twenty bucks on chewing gum,
He went to all the weenie roasts

And once he thought he saw a ghost.

He got to be great at pillow fights

And went to sleep with his teddy at night.
He flew a kite, he kicked a can,

He rubbed some dirt upon his hands.

He drew some pictures, threw some stones,
Ate forty-seven ice cream cones.,

He got some sand between his toes,

Got a loose tooth and a bloody nase,

He got a dog, they rolled in mud.

He imitated Elmer Fudd.’

He climbed a roof (though no one asked),
He broke his wrist — he wore a cast.

He rolled down hills, he climbed up trees,
He scuffed his elbows, skinned his knees,
He tried to join the baseball team;

When they said no, he spit and screamed.
He cried when he was feeling sad

And went and cuddled with his dad.

He wore a hat that didn't fit,

He learned just how far he could spit,

He learned to wrestle and get tickled,
Sucked his thumb, he belched and giggled.
He got his trousers torn and stained,

He ran out barefoot in the rain,

Shouting to all the folks In town,

“It's much more fun, this growin’ down.”

IRB| COMMONLIT

"Growing Down” from EVERY THING ON IT by Shel Silverstein, @ 2011 Evil Eye, LLC. Published by HarperColfins Children's Books, ALL RIGHTS

1. afictional cartoon character

RESERVED, Used by permission.



IRf] COMMONLIT

Discussion Questions

Directions: Brainstorm your answers to the following questions in the space provided. Be prepared to
share your original ideas in a class discussion.

1. What are some activities that your parents take part in that the speaker would consider an
example of "growing down?”

2. What do you think it would be like if adults started acting like children? Would this be good
or bad? Why?

3, In the context of the poem, why should we value our youth? What does Mr. Brown
experience when he acts how the speaker suggests? Cite evidence from this text, your own
experience, and other literature, art, or history in your answer.

4. Inthe context of the poem, how can we achieve happiness? Why do you think acting like a
child brings Mr. Brown joy? Have you taken part in any of the activities listed by the
speaker? How did they make you feel?



IRM] COMMONLIT

Text-Dependent Questions

Directions: For the following questions, choose the best answer or respond in complete sentences.

1. PART A: Which of the following best describes the theme of the poem? [RL.2]

A.  Children’s innocence allows them to better appreciate the small joys of life.
B While it may be less fun to grow up, eventually all children need to.

C.  Children don't have the worries or cares that adults do.

b Adults are unable to understand the joy that children get from life.

2. PART B: Which detail from the poem best supports the answer to Part A? [RL.1]
A, “Mix a grunt and a grumble, a sneer and a frown, / And what do you have? Why
old Mr. Brown” {Lines 1-2}

B.  ““Why must you shout when I'm lying down? / Why don’t you grow up? grumped
Grow-Up Brown.” {Lines 15-16)

C.  “When they said no, he spit and screamed. / He cried when he was feeling sad”
(Lines 70-71)
D. “It's much mere fun, this growin’ down.” (Line 80)

3. What does it mean when the speaker suggests Mr. Brown “try growing down”in line  [RL.4]
18?

to be nicer

to act younger

to stop aging

to be less responsible

Onw>

4.  Which statement best describes the main difference between the speaker and Mr.  [RL.3]
Brown?

A.  The speaker is a child who embraces life, while Mr. Brown is an adult who
originally doesn't.

B.  The speaker is a happy child who enjoys life, while Mr. Brown Is an unhappy
child.

C.  The speaker is an adult who embraces life, while Mr. Brown is an unhappy adult
who has no fun.

D.  The speaker is a child trying to grow up, while Mr. Brown is trying to “grow
down.”



IRA| cOMMONLIT

5. How does stanza 3 contribute to the overall theme of the poem? [RL.5]




0 Lessoll
Words & Definitions

Name o
( : ™
> log, logue Word Root
apology — n. a statement sayin you are sorry about something; an expression of regret for

having done or said something wrong. Kristina gave me an apology for the way she acted
at the party.

dialogue — n. the things that are said by the charactersin a story, movie, or play. Find two
examples of figurative language in the dialogue in the story.

epilogue - n. a final section or speech after the main part of a book, play, or musical
composition. The epilogue explained what happened to the main character after the
novel’s conclusion.

eulogy - n. a speech that praises or honors someone who has died. The priest delivered
the eulogy at the funeral.

monologue — n. a long speech given by a character in a story, movie, or play, or by a
| performer. Angela was nervous because her part in the play included a monologue. y

4 ™

mono-, Unhi- 0ne Prefix

monopoly — n. complete control of the entire supply of goods or of a service ina certain
area or market; complete ownership or control of something. Mrs. Becker has a monopoly
on special occasion cakes in our city.

monotonous — n. something that is boring because it is always the same. She read the
book in a monotonous voice, and | felt myself nodding off.

monogamy — n. the state or practice of being married or partnered to only one person at a
time. Many birds practice monogamy.

unison — n. a process in which something is done or achieved together at the same time.
Teachers and parents worked in unison to beautify the school yard.

universal — n. done or experienced by everyone; existing or available for everyone;
existing or true at all times or in all places. A forward head nod is the universal human sign

for ves.
\_ y J
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Roots, Prefixes, & Suffixes

Name

Activity 1: Defining Words

A. Understand Words

Directions: Write the vocabulary word for each definition below.

B. Rewrite Definitions

1.

LI

v N e

a long speech given by a character in a story, movie, or play, orby a
performer

a speech that praises or honors someone who has died

a statement saying you are sorry about something; an expression of regret
the things that are said by the characters in a story, movie, or play

a final section or speech after the main part of a book, play, or musical
composition

a process in which something is done or achieved together at the same time
done or experienced by everyone; existing or available for everyone
something that is boring because it is always the same

a complete control of the entire supply of goods or of a service in a certain

area or market

10. the state or practice of being married or partnered to only one person ata

Directions: Reread the definitions and sentence examples for each word. Then, write your own definition for
each word that contains no more than five words and uses the root or prefix meaning as part of the definition.

An example is done for you.

11. apology: OAPYess !%Iﬁl with words

12. dialogue:

13. epilogue:

14. eulogy:

15. monologue:

16. monopoly:

17. monotonous:

18, monogamy:

19. unison:

20, universal:

Lesson 13: log, logue, mono-, uni-
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Activity 2: Undernding Words

C. Snoy or Anton?

Directions: Read the words and decide if they are synonyms or antonyms.

16. monopoly/distribution
17. monotonous/invigorating
18. monogamy /polygamy

19. unison/synchronous

20. universal/global

Lesson 13:1og, logue, mono-, uni-

a. synonyms

149

a. synonyms
a. synonyms
a. synonyms

a. synonyms

o0 o o o

. antonyms
. antonyms
. antonyms

. antonyms

Name -
A. Crossword Puzzle i‘
Directions: Read the abbreviated definitions and complete the puzzle.
Across 1
2
5. sorry
7. long speech by a character
9. experienced by everyone 3
10. complete control 7
Down °
6
1. speech that praises someone
who has died
2. said by characters ! 8
3. boring
4. final section
6. partnered with one person
8. done together °
10
B. Which Word Does Not Belong?
Directions: Choose the word that is notrelated to the vocabulary word given.
11. apology a. sorry b. revenge C. remorse d. regret
12. dialogue a. talk b. setting c. script d. words
13. epilogue a. postscript b. end ¢. introduction d. afterword
14. eulogy a. praise b. funeral c. excite d. tribute
15. monologue a, sermon b. speech c. lecture d. humor

. antonyms

@2015 erincobb imlovinlit.com



Name

Actlvity :Usmg Words

A. Fill in the Blanks

Directions: Read each sentence and choose the word that best fits the sentence.

1. lToweyouan for packing the wrong type of sandwich in your lunch.

2. The automated voice on the phone was so that Brittney fell asleep

before the part she needed to hear!

3. The actors need to run through the a few more times to make sure

everything is ready for tonight’s performance.

4. Abookis sometimes preceded by a prologue and followed by an

5. Shakespeare’s plays are famous for having numerous in them.

6. There seemedtobe a onsoap in Vienna; we could only find one

brand for hand soap, dish soap and laundry detergent!

7. The given at Sam’s funeral was absolutely beautiful.

8. Humans are one of only a few species who believe in

9. Death is the most experience possible, and it is also the most personal.

10. When the bell rings, you are to turn your papers over in

B. True or False
Directions: Read each statement. If the bold word is used properly in the sentence, circle the T for True. If the
bold word is used incorrectly in the sentence, circle the F for False.

~

12. The play’s dialogue closely resembled some of Shakespeare’s.

17. Jennie enjoyed her monopoly on neighborhood babysitting.

19. After he lost an eyein a childhood illness, Kyle became unison.

o e T T T B S I
M oM oM™ =™ o™ o™ oM Mmoo

apology
dialogue
epilogue
eulogy
monclogues
monopoly
monotonous
monogamy
unison

universal

13. The end of the book contained an epilogue and a sneak peek of the sequel.

16. Susan’s monogamy in the middle of the play was about her college days.

11. The cheerleaders couldn’t stop apologizing to the players for how well they played.

14. The pastor delivered a eulogy, speaking especially about the nice weather we've had.

15. The chocolate birthday cake was so monologue that Jake wasn't sure he could eat it all,

18. The author’s voice was so monotonous that I left in the middle of the reading.

20. Do humans understand their universal significance as well as their individual significancé?

Lesson 13:1og, logue, mono-, uni- 150 @©2015 erin cobb imlovinlit.com




Roots, Prefixes, & Suffixes

Activity 4: Analyzing Words

Name

A. Fill in the Blanks

Directions: Change the form of the vocabulary words below to fill in the table.

noun verb adjective adverb

1 apology
2 ewlogy % %
3 monapoly * %
4 moncgamy *
5 % onotonous

B. Analogies

Directions: Fill in the blanks to complete the analogies.

6. mute :: silence 9. one:
conversation :: more than one :: dialogue

7. beginning :: prologue 10.  individual experience :: local
end :: shared experience ::

8. nottogether :: sporadic
together ::

C. Adding Prefixes

Directions: Change the prefix for each number-related word below to uni- or mono-.

11.

12.

13.

14,

15.

bicycle

dioxide

quadrilateral

bicellular

diagram

Lesson 13:log, logue, mono-, uni-

16. ditheism

17. disyllabic
18. dichromatic
19. bivalve

20. bigamy

©2015 erincobb imlovinlit.com



Name:

Valuable Vultures

by Guy Belleranti

What do you think of when you hear the
word “vulture"? Many people think vuliures are
icky because they eat the remains of other
animals. While it's frue that most vultures are
scavengers that eat carrion {dead animals), this
is actually a really good thing! By eating
carrion, vultures help prevent the spread of

disease into our soil and water. This makes

vultures very valuablel
Biologists divide vultures into two groups — Old World and New World, Old World vultures
live in Africa, Asia, and Europe. New World vultures live North, Central, and South America.
There are no vultures in Australia or Antarctica. Old World and New World vultures are not
close relatives, Still, they do have things in common:
- Many, have bald or lightly feathered heads. This helps keep their heads clean when

they consume the meat of other animais.
« They have sharp, hooked beaks for ripping meat apart.
« Their strong stomach acids kill bacteria that would make most animails sick.

Also, both Old World and New World vuliures have large wings and can glide without
flapping them. This helps them save energy when they're searching for food. This is especially
important for large, heavy vultures like South America’s Andean condor, North America's

extremely endangered California condor, and Asia’s Himalayan vulture.

Vultures hunt during the day, when most other animal scavengers are sleeping. Old
World vultures often glide over open areas like grasslands and deseris. Great eyesight helps
them spot dead animals. Many New World vultures live in rain forests where plants make the

ground difficult to see. Three species, the turkey vulture and the greater and lesser yellow-

Super Teacher Worksheefs - www.superteacherworksheels.com




headed vultures, use their great sense of smell to find food. This is unusual, since most birds
can barely smell at all. |

Vultures must eat fast, or risk losing food to larger vultures. They store most of their meal
in a throat pouch (or crop) for eating at another time. In order to find their next meat, vuttures

will often watch other vultures and follow the one who's found something fo eat,

Not all vuliures rely solely on scavenging to get their food. For exampie, some Old World
vultures use their fough, eagle-like feet and sharp beaks to hunt and kill prey, as well as eating
carrion. You might be surprised to learn that one Old World vuliure, the palm-nut vuliure, is
primarily vegetarian. While it does eat meat, it prefers the fruit of oil palms. It has a feathered

head, and when it does eat meat, it's usually small live animals, not carrion,

Now you know that vultures aren't just valuable, there's quite a variety of them!

About the Author

Guy Belleranti is an author of fiction, poetry, articles, puzzles, and humor for
children and adults. He also works as a docent at the Reid Park Zoo in Tucson,

Arizona. The information in this article comes from his experiences teaching

children about the wild animals at the zoo.
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Valuable Vultures

by Guy Belleranti

1. Based on the information you read in the article, why are you more likely to spot vultures
feeding in a group rather than eafing alone?

a. Vultures must work together to attack and kill their prey.
b. Vultures flock 1o wherever another vulture has aiready found food.
¢. Vultures eat together to protect each other from being attacked by predators.
d. Vultures feed in groups so they can atiract a mate.
2. Inthe article, you learned about Old World vultures and New World vultures.

Below are descriptions of several species of vultures. On the line next fo each
description, write OW if it is an Old World vulture being described or NW if it is a New
World vulture being described.

The palm-nut vulture inhabits forests and grasslands in Africa.
The turkey vulture is commonly seen across the Americas and into Canada.
The king vulture resides in Central and South America.

You can find the white-rumped vulture in India, Pakistan, Bangladesh, and
Nepal. '

3. What advantage do vultures have over other scavengers in searching for food?

a. Vultures have beiter hearing than other scavengers.

b. Vultures are more aggressive than other scavengers.

c. Vultures search for food during the day, while others scavengers are asleep.
d. Vultures are faster than other scavengers.

4, Which of the vulture's five senses is most unusual and why?
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Vaiuable Vulitures

by Guy Belleranti

The scrambled words below are vocabulary words from the
article. Unscramble each word and write it on the line.
Be sure each word is spelled correctly.

1. vesagcrnse
hint: animails that eat dead or decaying matter

2. eienavagrt
hint: eating only plants

3. gedrneande
hint: at risk of becoming extinct

4. ilbgtsoiso
hint: scientists that study living things

5. atvriye
hint: o wide array; diversity

6. scmuenco
hint: ingest; eat or drink

7. cibreata
hint: single-celled organisms that can cause disease

8. pfipalgn
hint: moving wings up and down in order o fly

9. retpnve
hint: keep something from happening

10. sgdsarslina
hint: large open areas covered with grass
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Name:

Valuable Vultures

by Guy Belleranti

In the article, “Valuable Vultures,” you learned that even though
many people think vultures are gross because they eat dead
animals, they are actually helpful to their environment.

Think of another animal that has a bad reputation (people don't fike that animal very much).
On the lines below, explain why that animai is actually valuable to its surroundings.
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ANSWER KEY

Valuable Vultures

by Guy Belleranti

1. Based on the information you read in the article, why are you
more likely to spot vultures feeding in a group rather than
eating alone? b

a. Vultures must work together to attack and kill their prey.

b. Vultures flock o wherever another vulture has already found food.
¢. Vultures eat together to protect each other from being attacked by predators.

d. Vultures feed in groups so they can attract a mate.

2. Inthe article, you learned about Old World vultures and New World vultures.

Below are descripiions of several species of vultures. On the line next fo each
description, write OW if it is an Old World vulture being described or NW if it is a New
World vulture descripfion.

OW The palm-nuf vulture habitates forests and grasslands in Africa.

NW The turkey vulture is commonly seen across the Americas and into Canada,

NW The king vulture resides in Central and South America.

OW You can find the whife-rumped vulture in India, Pakistan, Bangladesh, and
Nepal.

3. What advantage do vultures have over other scavengers in searching for food? ¢

a. Vultures have better hearing than other scavengers.
b. Vultures are more aggressive than other scavengers.

c. Vultures search for food during the day. while others scavengers are asleep.

d. Vultures are faster than other scavengers.

4. Which of the vulture's five senses is most unusual and why?

Vultures have a grect sense of smell. This is unusual because most birds can

hardly smell at gli.
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ANSWER KEY

Valuable Vultures

The scrambied words below are vocabulary words from the
arficle. Unscramble each word and write it on the line.

Be sure each word is spelled correctly.

| P scavengers
2. vegetarian
3. enddngered
4. biologists

5. yariety

6. consymne

7. bacteria

8. flappin

9. prevent

10. agrassiands

by Guy Belleranti

vesagcrnse
hint: animals that eat dead or decaying matter

eienavagrt
hint: eating only plants

gedrneande
hint: at risk of becoming extinct

ilbgtsoiso
hint: scientists that study living things

atvriye
hint: o wide array; diversity

scmueno
hint: ingest; eat or drink

cibreata
hint: single-celled organisms that can cause disease

pfipalgn
hint: moving wings up and down in order to fly

retpnve
hint: keep something from happening

sgdsarsina
hint: large open areas coverad with grass
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Name: Class:

Simone Biles

This gymnast lets her power and personality shine.

By Marty Kaminsky
2016

Simone Biles is an American gymnast who competed in the 2016 Summer Olympics. In this informational
text, Marty Kaminsky discusses Biles' life and success in gymnastics, As you read, take notes on how Biles
became an Olympic gymnast.

The crowd stirs as 16-year-old gymnast Simone
Biles mounts the balance beam at the 2013 World
Artistic Gymnastics Championships in Belgium.

The beam is 4 feet high, 16 feet 5 inches long, and
only 4 inches wide, Walking across its surface
woulid be a chailenge for most people, but
Simone must do far more than that to earn a gold
medal. During her 90-second performance,
Simone must leap high in the air, spin completely
around on one foot, and execute handsprings’
and flips without falling off the beam or landing

awkwardly, "Simone Biles" by Courtesy of iStock/mustafahacaleaki and iStock/
KrizzDaPaul is used with permission.

To start her routine, the 4-foot-8-inch athlete

pirouettes® on one foot two and a half times, then pulls off a flawless split leap. The audience gasps
with each move, but Simone is calm as she dances on the beam. She completes her routine with a full
twisting double back.® After flying high through the air, Simone lands on her feet, and the crowd roars.

The judges are impressed, too, rewarding Simone with her first All-Around? titfe.

Making Her Mark

Since then, Simone has taken the gymnastics world by storm. She is the first female to win three
straight All-Around World Championships, earning a total of 14 medals, 10 of them gold.

At the 2016 Olympics in Rio de janeiro, Brazil, Simone added five medais to her total: golds in team,
individual all-around, vault, and floor exercise, and bronze on beam.

1. ajump through the air onto one's hands, followed by springing over onto one's feet

2. aspin

3. ajump from a backwards position into a back flip in a stretched out position with a full 360 degree rotation that
occurs during the flip, followed by a second back flip

4. “all-around" refers to a gymnast who competes in every gymnast event
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Talent at a Young Age

Life was not always easy for Simone. Her birth mother was unable to care for her children. Simone's
grandparents, Ron and Nellie Biles, adopted Simone and her younger sister, Adria, Their new dad and
mom moved the girls from Ohio to their home in Texas.

Simane loved to climb their five-foot-high mailbox and somersault to the ground. On a field trip with
her daycare class, six-year-old Simone was introduced to her sport at Bannon's Gymnastix. In no time
flat,” she started copying the gymnasts, drawing the attention of the Instructors.

“| loved the idea of flipping around, and the center saw something in me, so they sent home a letter to
my parents encouraging me to join,” Simone explains. “Right from the start, | was fearless and willing to
try anything and everything.”

Simone advanced quickly. At age seven, she began performing competitively. In 2011, she placed first
on vault and balance beam at the American Classic. Her debut® as an international gymnast was in
March 2013 at a World Cup event.

Bubbly and Genuine

Simone is known for her power and upbeat personality. She often plays to the crowd, flashing a big
smile as she performs in the floor exercise.

in order to master the variety of skills needed to excel’ at the four events In her sport, Simone trains
five to six hours a day, year-round,

Simone’s coach, Aimee Boorman, appreciates her hard work and personality. “Simone is bubbly. She
loves to laugh, is genuine and real. When she wins and is given flowers on the medal podium, she
searches out the shyest child in the crowd and gives her the flowers.”

How does Simone handle the pressures of life as an athlete? “It is important to embrace the moment,”
she says. “Remember to have as much fun as you can, but keep in mind, win or lose, you still have your
whole life ahead. You can achieve anything that you put your mind to.”

Copyright © Highlights for Children, Inc., Cofumnbus, Ohio. Alf rights reserved.

5, aphrase meaning “very quickly”
6. aperson's first appearance or performance in a role
7. Excel (verb): to pass others in skill
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Text-Dependent Questions

Directions: For the following questions, choose the best answer or respond in complete sentences.

1. PART A: Which statement best expresses the central idea of the text?

A, Simone Biles' positive attitude has come from her success in gymnastics and
relatively easygoing life.

B.  From ayoung age, Simone Biles was a natural gymnast and often didn't have to
train for competitions.

C.  Simone Biles' great attitude and commitment to the sport has helped her
succeed in gymnastics.

D.  Competitors are often frightened of Simone Bites because of her skiils and
serious attitude,

2 PART B: Which TWO details from the text best support the answer to Part A?

A.  “She completes her routine with a full twisting double back. After flying high
through the air, Simone lands on her feet, and the crowd roars.” (Paragraph 3)

B.  “Life was not always easy for Simone. Her birth mother was unable to care for
her children.” (Paragraph 7}
C.  "Ona field trip with her daycare class, six-year-old Simone was introduced to her

sport at Bannon's Gymnastix.” (Paragraph 8)
D. "l loved the idea of flipping around, and the center saw something in me, so
they sent home a letter to my parents encouraging me to join™ (Paragraph 9)

£, “In order to master the variety of skilis needed to excel at the four events in her
sport, Simone trains five to six hours a day, year-round.” (Paragraph 12)
F.  "Remember to have as much fun as you can, but keep In mind, win or lose, you

still have your whole life ahead. You can achieve anything that you put your
mind to.” (Paragraph 14)

3. Which of the following describes how the author introduces Simone Biles?
A.  as atalented gymnast who impresses the crowd and judges
B. asacommitted athlete who works nonstop for what she has
C.  asatalented gymnast who isn't treated fairly by the judges
D.  as a serious athlete who values winning over all else

4.  How do paragraphs 5-6 contribute to the development of ideas in the text?
A, They show how long Simone Biles has been competing in gymnastics.
B.  They help readers understand how hard Simone Biles has worked.
C.  They stress that sometimes even Simone Biles doesn’t win gold.
D They emphasize Simone Biles' widespread success in gymnastics.
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5. Which of the following describes the connection between Biles’ training and her success?
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Discussion Questions

Directions: Brainstorm your answers to the following questions in the space provided. Be prepared to
share your original ideas in a class discussion.

1. Inthe text, the author describes Simone Biles as committed to gymnastics. What is
something that you're committed to? How did you discover your love for this activity? What
do you do to improve at it?

2. Simone Biles has won various gold medals at the Ali-Around World Championships and the
2016 Summer Olympics. What do you think contributed to her success? What traits do you
think are the most important to success?

3. Simone Biles loves gymnastics but tries to live in the moment, win or lose. Do you think this
is why Biles portrays happiness and seems upbeat to her audience? How can you
incorporate this mindset into something you love so that it shows?
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Name: Class:

The Third Wish

By Joan Alken
1974

Joan Delano Aiken (1924-2004) was an English writer who specialized in supernatural fiction and children’s
aiternative history novels, In this short stoty, o man receives three wishes after saving a swan who turns out
to be-the King of the Forest, Unfortunately, his wishes do not pan out as he expects them to. As you read,
take note of how the characters change throughout this short story.

Once there was a man who was driving in his car
at dusk on a spring evening through part of the
forest of Savernake,’ His name was Mr. Peters,
The prirnrc;ses2 were just beginning but the trees
were still bare, and it was cold; the birds had
stopped singing an hour ago.

As Mr. Peters entered a straight, empty stretch of
road he seemed to hear a faint crying, and a
struggling and thrashing,? as if somebody was in
trouble far away in the trees. He left his car and
climbed the mossy bank beside the road. Beyond
the bank was an open slope of beech trees

leading down to thorn bushes through which he
saw the gleam of water. He stood a moment waiting to try and discover where the noise was coming
from, and presently heard a rustling and some strange cries in a voice which was almast human — and
yet there was something too hoarse about it at one time and too clear and sweet at another. Mr.
Peters ran down the hilt and as he neared the bushes he saw something white among them which was
trying to extricate” itself; coming closer he found that it was a swan that had become entangled in the
thorns growing on the bank of the canal.

"swan” by Mark Doliner Is licensed under CC BY 2.0

The bird struggled all the more franticaily® as he approached, locking at him with hate in its yellow
eyes, and when he took hold of it to free it, hissed at him, pecked him, and thrashed dangerously with
its wings which were powerful enough to break his arm. Nevertheless he managed to release it from
the thorns, and carrying it tightly with one arm, holding the snaky head well away with the other hand
{for he did not wish his eyes pecked out), he took it to the verge of the canal and dropped it in.

a forest iocated in Wiltshire, England

paie yellow fiowers

violent movement

to free from a trap or difficulty

Frantic (adjective): feeling ar showing a lot of fear and worry through wild, hurried activity

Uk oW =
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The swan instantly assumed great t:lignity6 and sailed out to the middie of the water, where it put itself
to rights with much dabbling and preeniﬂg,7 smoothing its feathers with little showers of drops. Mr.
Peters waited, to make sure that it was all right and had suffered no damage in its struggles. Presently
the swan, when it was satisfied with its appearance, floated to the bank once more, and in a moment,
instead of the great white bird, there was a little man all in green with a golden crown and long beard,
standing by the water. He had fierce glittering eyes and looked by no means friendly.

“Well, Sir,” he said threateningly, “I see you are presumptuous8 enough to know some of the laws of
magic. You think that because you have rescued — by pure good fortune — the King of the Forest from
a difficulty, you should have some fabulous reward.”

“| expect three wishes, no more and no less,” answered Mr, Peters looking at him steadily and with
composure.”

“Three wishes he wants, the clever man! Well, | have yet to hear of the human being who made and
good use of his three wishes — they mostly end up worse off than they started. Take your three wishes
then — “he flung three dead leaves in the air “ — don't blame me if you spend the last wish in undoing
the work of the other two.”

Mr. Peters caught the leaves and put two of them carefully in his notecase. When he looked up the
swan was salling about in the middle of the water again, flicking the drops angrily down its long neck.

Mr. Peters stood for some minutes reflecting on how he should use his reward. He knew very well that
the gift of three magic wishes was one which brought trouble more often than not, and he had no
intention of being fike the forester who first wished by mistake for a sausage, and then in rage wished
it on the end of his wife's nose, and then had to use his last wish in getting it off again.'® Mr. Peters had
most aof the things which he wanted and was very content with his life. The only thing that troubled him
was that he was a little lonely, and had no companion for his old age. He decided to use his first wish
and to keep the other two in case of an‘emergency. Taking a thorn he pricked his tongue with it, to
remind himself not to utter rash'® wishes aloud. Then holding the third leaf and gazing round him at
the dusky'? undergrowth, the primroses, great beeches and the blue-green water of the canal, he said:

| wish | had a wife as beautiful as the forest.”

A tremendous'? quacking and splashing broke out on the surface of the water. He thought that it was
the swan laughing at him. Taking no notice he made his way through the darkening woods to his car,
wrapped himself up in the rug and went to sleep.

When he awoke it was morning and the birds were beginning to call. Coming along the track toward
him was the most beautiful creature he had ever seen, with eyes as blue-green as the canal, hair as
dusky as the bushes, and skin as white as the feathers of swans.

6. Dignity (noun): a sense of importance and value; pride; self-respect
7. Dabble means to dip one’s hands or feet in water and move them around gently. Preen refers to when a bird
straightens and cleans its feathers with its beak.
8. Presumptuous (adjective): going beyond what is proper; too confident, especially in a way that is rude
9. Composure (noun): caimness of mind, manner, or appearance
10. areference to a French literary falry tale titled "The Ridiculous Wishes” by Chartes Perrault
11. Rash (adjective): doing something quickly and without thinking carefully about the results
12. darkish in color
13. Tremendous (adjective): very great in amount, size, or degree
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“Are you the wife that | wished for?” asked Mr. Peters.
“Yes | am.” she replied. “My name is Leita.”

She stepped into the car beside him and they drove off to the church on the outskirts of the forest,
where they were married. Then he took her to his house in a remote' and lovely valley and showed
her all his treasures — the bees in their white hives, the Jersey cows, the hyacmths > the silver
candlesticks, the blue cups and the luster bowl for putting primroses in. She admired everything, but
what pleased her most was the river which ran by the foot of his garden.

“Do swans come up here?” she asked.
“Yes, | have often seen swans there an the river,” he told her, and she smiled.

Leita made him a good wife. She was gentle and friendly, busied herself about the house and garden,
polished the bowts, milked the cows and mended'® his socks, But as time went by Mr. Peters began to
feel that she was not happy. She seemed restless, wandered much in the garden, and sometimes when
he came back from the fields he would find the house empty and she would only return after half an
hour or so with no explanation of where she had been. On these occasions she was always especially
tender and would put out his slippers to warm and cook his favorite dish — Welsh rarebit'’ with wild

strawberries — for supper.

One evening he was returning home along the river path when he saw Leita in front of him, down by
the water. A swan had sailed up to the verge'® and she had her arms round its neck and the swan's
head rested against her cheek. She was weeping, and as he came nearer he saw that tears were rolling,
too, from the swan’s eyes,

“eita, what is it?” he asked, very troubled.
“This is my sister,” she answered. | can't bear being separated from her.”

Now he understood that Leita was really a swan from the forest, and this made him very sad because
when a human being marries a bird it always leads to sorrow.

“{ could use my second wish to give your sister human shape, so that she could be a companion to
you,” he suggested.

“No, no,” she cried, “I couldn't ask that of her.”
“|s it so very hard to be a human being?” asked Mr. Peters sadly.
"“ery, very hard,” she answered.

“Don't you love me at all, Leita?"

14. Remote (adjective): far away from the main population; distant or isolated
15.  abulbous plant of the lily family

16. Mend (verb): to fix or repair

17. adish of melted cheese and various other ingredients, served over toast
18. a British English term for a narrow strip of grass bordering a pathway
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“Yes, | do, | do love you,” she said, and there were tears in her eyes again. “But { miss the old life in the
forest, the cool grass and the mist rising off the river at sunrise and the feel of the water sliding over
rmy feathers as my sister and | drifted along the stream.”

“Then shall I use my second wish to turn you back into a swan again?” he asked, and his tongue pricked
to remind him of the old King's words, and his heart swelled with grief inside him.

“wWho would darn'® your socks and cook your meals and see to the hens?”
“d do it myself as | did before | married you,” he said, trying to sound theerful.

She shook her head. “No, | could not be as unkind to you as that. | am partly a swan, but | am also
partly a human being now. [ will stay with you.”

Poor Mr. Peters was very distressed on his wife’s account and did his best to make her life happier,
taking her for drives in the car, finding beautiful music for her to listen to on the radio, buying clothes
for her and even suggesting a trip round the world. But she said no to that; she would prefer to stay in
their own house near the river.

He noticed that she spent more and more time baking wonderful cakes — jam puffs, petits fours,
éclairs, meringues. One day he saw her take a basketful down to the river and he guessed that she was
giving them to her sister.

He built a seat for her by the river, and the two sisters spent hours together there, communicating in
some wordless manner. For a time he thought that all would be well, but then he saw how thin and
pale she was growing.

One night when he had been late doing the accounts he came up to the bed and found her weeping in
her sleep and calling:

“Rheal Rhea! | can't understand what you say! Oh, wait for me, take me with you!”

Then he knew that it was hopeless and she would never be happy as a human. He stooped down and
kissed her goodbye, then took another leaf from his notecase, blew it out of the window, and used up
his second wish.

Next moment instead of Leita there was a sleeping swan lying across the bed with its head under its
wing. He carried it out of the house and down to the brink of the river, and then he said “Leita! Leita!”
to waken her, and gently put her into the water. She gazed round her in astonishment for a moment,
and then came up to him and rested her head lightly against his hand; next instant she was flying away
over the trees toward the heart of the forest.

He heard a harsh laugh behind him, and turning round saw the old King looking at him with a
malicious?® expression.

19, to fix an article of clothing
20. Malicious (odfective): having or showing a desire to cause harm
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“well, my friend! You don't seem to have managed so wonderfully with your first two wishes, do you?
What will you do with the last? Turn yourself into a swan? Or turn Leita back into a girl?"

“ shall do neither,” sald Mr. Peters calmly. “Human beings and swans are better in their own shapes.”

But for alf that he looked sadly over toward the forest where Leita had flown, and walked slowly back
to his empty house.

Next day he saw two swans swimming at the bottom of the garden, and one of them wore the gold
chain he had given Leita after their marriage; she came up and rubbed her head against his hand.

Mr. Peters and his two swans came to be well known in that part of the country; people used to say
that he talked to the swans and they understood him as well as his neighbors. Many people were a
littte frightened of him, There was a story that once when thieves tried to break into his house they
were set upon by two huge white birds which carried them off bodily and dropped them in the river.

As Mr. Peters grew old everyone wondered at his contentment. Even when he was bent with
rheumatism?®' he would not think of moving to a drier spot, but went slowly about his work, milking the
cows and collecting the honey and eggs, with the two swans always somewhere close at hand.

Sometimes people who knew his story would say to him:
“Mr. Peters, why don't you wish for another wife?”

“Not likely,” he would answer serenely. “Two wishes were enough for me, | reckon. f've learned that
even if your wishes are granted they don't always better you. Il stay faithful to Leita.”

One autumn night, passers-by along the road heard the mournful® sound of two swans singing. Al
night the song went on, sweet and harsh, sharp and clear. In the morning Mr. Peters was found
peacefully dead in his bed with a smile of great happiness on his face. In between his hands, which lay
ctasped on his breast, were a withered leaf and white feather.

“The Third Wish" from Not What You Expected: A Colfection of Short Stories by Joan Aiken. Copyright © 1974 by joan Aiken. Used by
permission of the Brandt & Hochman Literary Agents, inc.. Alf rights reserved.

21. “Rheumatism” is any disease marked by inflammation and pain in the joints, muscles, or connecting tissue.
22,  Mournful (adjective); expressing sadness, regret, or grief
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Text-Dependent Questions

Directions: For the following questions, choose the best answer or respond in complete sentences.

1. PART A: Which statement identifies the theme of the short story?

A.  Love can be powerful but is often brief.

B.  While wishes may appear appealing, they often come with consequences.
C.  Nature is an imposing force that is not meant to be altered.

D Love cannot be wished or willed, but must occur naturally.

2. PART B; Which detail from the text best supports the answer to Part A?

A, “Taking a thorn he pricked his tongue with it, to remind himself not to utter rash
wishes aloud.” (Paragraph 9)
B.  “She was gentle and friendly, busied herself about the house and garden,

polished the bowls, milked the cows and mended his socks. But as time went by
Mr. Peters began to feel that she was not happy.” (Paragraph 18)

C.  “Now he understood that Leita was really a swan from the forest, and this made
him very sad because when a human being marries a bird it always leads to
sorrow.” (Paragraph 22)

D.  “Two wishes were enough for me, | reckon, I've learned that even If your wishes
are granted they don't always better you. Ill stay faithful to Leita.” {Paragraph
49)

3. PART A; What is the meaning of “contentment” in paragraph 46?

A. State of happiness

B.  State of misery

C.  One'slack of companionship
D.  One'sstrength

4. PART B: Which section from the text best supports the answer to Part A?

A "Even when he was bent with rheumatism he would not think of moving to a
drier spot..."(Paragraph 46)

B.  “Mr. Peters, why don't you wish for another wife?” (Paragraph 48}

C.  “One autumn night, passers-by along the road heard the mournful sound of two

swans singing.” (Paragraph 50)
D.  “Inthe morning Mr. Peters was found peacefully dead in his bed with a smile of
great happiness on his face.” (Paragraph 50)

5. PART A: How does Leita’s character change throughout the story?

A.  While Leita begins the story loving Mr. Peters, her love eventually fades.

B. Leita resents Mr. Peters from the beginning, and is relieved when she becomes
a swan again.

C Leita goes from enjoying her life with Mr. Peters, to missing her life as a swan.

D.  Leita wants to be a human from the beginning, and is upset when Mr. Peters
goes against her wishes and returns her to her original form.
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6. PART B: Which section from the text best supports the answer to Part A?

A, “Yes, | do, | do love you,’ she said, and there were tears in her eyes again. ‘But |
miss the old life in the forest,” (Paragraph 28)

B.  “She shook her head. ‘No, | could not be as unkind to you as that. | am partly a
swan, but | am also partly a human being now. | will stay with you.” (Paragraph
32)

C.  “One day he saw her take a basketful down to the river and he guessed that she
was giving them to her sister.” (Paragraph 34)

D.  “She gazed round her in astonishment for a moment, and then came up to him
and rested her head lightly against his hand” (Paragraph 39)

7. How does paragraph 7 contribute to the development of ideas in the text?




KB COMMONLIT

Discussion Questions

Directions: Brainstorm your answers to the following questions in the space provided. Be prepared to
share your original ideas in o class discussion.

1, Inyour opinion, should Mr. Peters have used his last wish? If so, what do you think he
should have wished for?

2 in your opinion, did Mr. Peters make the right choice when he returned Leita to her swan
form? Why or why not?

3. In the context of the story, how are we changed by love? How did Mr. Peters’s love for Leita
influence the decisions he made throughout the story? Cite evidence from this text, your
own experience, and ather literature, art, or history in your answer.

4. Whatis the relationship between humans and nature? How does Mr. Peter’s relationship
with nature change throughout the story?



Name:

Weekly Math Review - Q41

Teacher:

Monday

Tuesday

Wednesday

Thursday

What is the surface area of

this prism?
E 6 em
hanads
LD em
2 om

What is the volume of the
shape this net makes?

T2em

=2%63 em

What is the volume of the composite figure with the
dimensions shown in the three views? Round to the

nearest tenth,

71t

Front Top

[ o

Isfl

Side

— 4 1t

Find the value
of x.

Find the value of x.

Find the value of x,

t2cs 14y,

Find the value
of x.

P
g oﬁ-/.//
-
"/
ke

) /

Find the missing angle.

Find the missing angle.

between the angles.

i
/

r

missing angle.

AN

132%

N

*

%
\ 130°
X+ 134\

630 47’-'-‘ !5‘\\\
\\
‘\? 355 s,
? v
Identify the relationship Find the measure of the Solve for the value of x. Solve fo[ the value of x,

X

Which measure of central tendency is a better
measurement of what a typical house in Smallville would
cost?

Home [heme#! |home#2 |homed3

home #4 [home#5 |home#6 |home #/

Cost $110,000 | 515,000 | 543,000

$98,000 | 513,000 |S115,000 | 119,000

Mean < or = or » Median

E

X

{
1

10

U e B M B

X
x
|
T
]

B
S ——

So far Janet has 87, 92, 75
and 83 for her test grades.
What is the highest her
average could get with one
mors test?

In a factory, a manager tests 250
preducis and finds defects In 7 of
them. How many defects are
likely going to be in & 10,000 unit

Becky surveyed the 32 shoppers
who spent the most time and
money at her boutique last
month. Will this resultin a

Dr. Jon planned to reward his
class with candy because
sveryone made an A on the test.
He surveyed every 4" student

Hug Middle School has 640
studsnts. Bill surveys a random
sample of 35 students and finds

that 14 of them have pet cats.

order? representative sample? that entered the class to find out | Predict how many students at the
which candy he should buy, school are likely to have cats,
Which type of sample did he
use?

Quiz scores of Vicki and
Liam are shown. Who
probably has the higher quiz
average? Who has more
consistent performances on
Yuizzes?

Vicki

Liam

A'tocal craft store is selling different kinds of craft paint for $2, $3,
%2, $15, and $2. When placing an ad in the local paper, which
measure of central tendengy should it use to advertise?-

The chart below shows the average cost that each gender
spends on their senior prom at the local high school.
A. Approximately what was the biggest difference in
spending between men and women?
B. Between what twa years did the biggest change happen

far men's spending?

C. What year had the smallest difference in spending?

o

1999

2000 2001

mMen  [1Women

2003

© One Stop Teacher Shop & © BOOM! Feeny Math Resources




Answer Key - Weekly Math Review - Q4:1

Thursday

Monday Tuesda Wednesday
What is the surface area of | Whatis What is the volume of the composite figure with the
this prism? 72m? the volume - | dimensions shown in .
R of the - l | an an
e shape this | the three views?
“Gam net )| Round to the nearest ®~4n gl
ey makes? tenth. 278.9 ft? -
.;v i Ei 437.9cm? From Top Side
Find the value % . Find the value of x. x = 21 Find the value of x. x =15 Find the value of B
of x. x = 21 \{"'2*/ } i x. x =27 ,f:.a..y L
m‘\,’;‘ L . (Zx-rf): ;Ef ;
/,.- i,' \_“ ‘./ ) — rf
Find the missing angle. 70° | Find the value of x. x = 11 Find the missing angle. 36° | Find the missing angle. 56°
N a7 e Sae S
\. /,w‘ j_‘__.w" , "? ‘ ¥ £
"'\.“‘ , " 2+ -"--.,sl‘j " /‘",
Identify the relationship Find the measure of the Solve for the value of x. Solve for the value of x.
between the angles. missing angle. Xx=—4 x=7
Supplementary 1320 .
* . S - R,
. - \lox=§
MRS : N

T CTRENTTTT T

N e

-- e e g

.

Which measure of central tendency is a better
measurement of what a typical house in Smaliville would
cost? Median

home §6
S113,000 | SEYS,000

5110,000 | 5115,000 | $343,000 | 598,000

Mean < or = or > Median

X
i
T
a0

20 e
ks b
S 1-x

So far Janet has 87, 92, 75
and 83 for her test grades.
What is the highest her
average could get with one
' more test?

87.4

Becky surveyed the 32
shoppers who spent the
most time and money at her
houtique last month. Will
this resultin a

In a factory, a manager
tests 250 products and
finds defects in 7 of them.
How many defects are likely
going to be in a 10,000 unit

Dr. Jon planned to reward his class
with candy because everyone
made an A on the test. He
surveyed every 4" student that
enterad the class to find out which
candy he should buy. Which type of
sample did he use?

Systematic

Hug Middle School has 640
students. Bill surveys a random
sample of 35 students and
finds that 14 of them have pet
cats. Predict how many
studenis at the schoo! are likely
to have cats. 256

order? representative sample?
280 No
Quiz scores of Vickiand
Liam are shown. Who V™ — 1
probably has the higher
quiz average? Liam Who
has more consistent —t i

performances on T s
quizzes? Liam

A local craft store is selling different kinds of craft
paint for $2, $3, $2, $15, and $2. When placing an
ad in the local paper, which measure of central
tendency should it use to advertise?
Median

The chart below shows the average cost that each gender
spends on their senior prom at the local high school.

A,

Appraximately what was the biggest difference in

spending between men and women? $40

B. Between what two years did the biggest change happen
for men's spending? 2002-2003

€. What year had the smallest difference in spending?

2003

2000 2001

1949

EMen OWomen

2003

2002

© One Stop Teacher Shop & © BOOM! Feeny Math Resources




Name:

Weekly Math Review - Q4:2

Teacher:

Monday

Tuesday

Wednesday

Thursday

Find the value of X,

Find the value of x.

Find the value of x.

p——

o+ 17 {98
o
P,

Find the value of x.

Find the missing angle.

Find the value of x.

Find the missing angle.

between the angles.

Ao

»

missing angle.

9x+21

10x + 10

\

Y

L
0 730 A
// //\ 4
& - [1 300 .
e w Sl e . .
Identify the relationship Find the measure of the Solve for the value of x. Solve for‘the value of x

Jon's test grades are 67, 75,
73 and 69. What does he
need to make on his next
test to have a 73 average?

Is the mean or the median

greater
for the
stemand '] %bLBHNS
leaf plot? ' | "»®
3 L1,567%9
¢ | 6,0,3

What does a worker at the local pharmacy typically make

according to t

his chart below?

tifle cashier | cashier

stockperson

stockperson | techniclan | pharmacist

hourly wages | SR1S 57.30 58

.30 57.80 $14.30 $55.00

Jon polled the first 743 people

who bought his new product at

his store. Will this likely resutt
in a biased sample?

Jim wants to conduct a survey o fearn the favorite hobbies of
students fn his school. Which would be the best sample?

A) His friends who are on the wrestling team

B} His cousins who are students in the school

) Every 25" student who enters the school In the morning
D) The students in his weight training class

Qut of the 80 customers
surveyed, 68 of them liked the
IPhone the most, If 500 pecple

were given the same survey,
predict how many would prefer
an lphone?

Refer to the diagrams to the far
right:

A, Whose class had the higher

mean?

B. If Mr. Kim's shortest student

switched with Mrs, Moore's

I tallest, would A still be true?

Refer to the diagrams to the
right:
A. Whose class had the highest
mode?
B. Which class has the smaller
inner quartile range?

Mr. Kim's student's heights

in inches.
3
5] A
@9 0 0en L]
o PRI+ B T B < B e e (4]

60 62 ] 6d -] M 72

Mrs. Mocre's student's
heights in inches
[EREY I +) g &
COHAQUGDTE
U oIHL 0oL ]

L] 62 -] 68 @8 m 72

Mrs, Smalls takes up f—u of the

white board. If a studant spits a
spit ball at her, what is the
probability that it does NOT hit
her, but lands on the white

l board?

NEWS REPORT: There is a
0.45 chance of rain, Which is
most true?
A} it is unlikely that it will rain
tomorrow
B) It is neither likely nor unlikely
that it wiil rain tomorrow

Order from least to most likely:
a. The event is certaln to
happen.

b. The event is just as likely to
happen as not to happen.

c¢. The event has no chance.

d. The event coutd happen.

e. The avent Is likely to happen.

Which will probably happen
when you rolt a die 300 times?
A) 1 or 2 rolls about 50 times.
B) 1 or 2 rolls exactly 50 times.
C) An even number rolls about
150 times.
D) An even number rolls exactly
150 times.

Chick-fil-a prints out a free
sandwich coupon receipt every
7 receipts. What is the
probability of not getting a
coupon receipt?

The theoretical probability of
spinning red is 3/8. If somaone
spins the spinner a total of 50
times, how many times could
they expect to land on red?

From the problem above, place
the ielters on the probability line:

0 172 1

Experimental or Theoretical
probability?

Steven flips a coin several times
to see how often heads ocours,

© One Stop Teacher Shop & © BOOM! Feeny Math Resources




Answer Key - Weekly Maih Review - Q4:2

Monday

Tuesday

Wednesday

Thursday

Find the value of x. x = 23

- T —————

Find the value of x. x = 32

axerE e

- |
Ry T
<

R SEHC
F

i -
K

Find the vqlue of . x=23

Find the value of x, x = 17

./.‘I

;/ \
S

& .
e N
) '\,_\.‘

Find the missing angie. 50°

Find the value of x. x =7

Find the missing angle. 70°

ey -~ el

-f.,-"' |l -~ EE < l A

| ;,/ S -
1007 'f‘ /"/ ' N w § /
30:' 1 ~ -““‘ gy [ 85°

S Lexes 0 e N

Identify the relationship Find the measure of the Solve for the value of x. Solve for the value of x.

between the angles. missing angle. 70° Xx=11 x=6
\

—

i
Same Side Interior

e -
N
2 107

B et ¥ -

CAamaL

- .

.. w10

K

[P S
185 - 2%,

\
]
. X -

L]

Jon's test grades are 67, 75,
73 and 69. What does he
need to make on his next
test to have a 73 average?

81

Is the mean or the median

greater for
the stem
andleaf '[%bEHNS
p‘Ot? 2] 7883
3] Lns679
) 0,02

What does a worker at the local pharmacy typically make
according to this chart below? $8.25 - $8.50

tiede cashier cashier

stockptson

stockpersen | technician pharmsacist

howsly wages §8.23 $2.50 550

$7.50 514.50 $33.00

Jon polted the first 743
people who bought his new
product at his store. Will this
likely result in a biased
sample?

No

Jim wants to conduct a survey to learn the favorite hobbies
of students in his school. Which would be the best sample?

A} His friends who are on the wrestling team

B} His cousins who are students in the school

C) Every 25™ student who enters the school in the morning
D} The students in his weight training class

QOut of the B0 customers
surveyed, 85 of them liked
the iPhone the most. If 500

people were given the same
survey, predict how many
would prefer an iPhone?
406

Refer to the diagrams to the far
right;
A. Whose class had the higher
mean? Kim
B. If Mr. Kim's shortest student
switched with Mrs. Moore’s tallest,
would A still be true? Yes

Refer to the diagrams to the
right:
A. Whose class had the highest
mode? Kim
B. Which class has the smaller
inner quatiile range? Kim

Mr. Kim's student's heights
in inches.

Mrs. Moore's student's
heights in inches

Mrs, Smalls takes up % of

the white board. If a student
spits a spit ball at her, what
is the probabliity that it does
NOT hit her, but lands on the

7
white board?—
10

NEWS. REPORT: Thereis a
0.45 chance of rain. Which is
most true?

A) It is unlikely that it will rain
tomorrow

B} It is neither likely nor unlikely
that it will rain tomorrow

Order from least to most likely:
a. The event is certain to happen,
b, The event is just as likely to
happen as not to happen.
¢. The event has no chance.

d. The event could happen.
e. The event is likely to happen.
C, D, B,E A

Which will probably happen
when you roll a die 300 times?

A) 1 or 2 rolls ahout 50 times.
B) 1 or 2 rolls exactly 50 times.
C} An even pumber rolls about
150 timas.
D) An even number rolls exactly
150 times.

Chick-fil-a prints out a free
sandwich coupon receipt avery
7 recelpts. What is the
probability of not getting a

coupoh receipt? g

The theoretical probability of
spinning red is 3/8. If someone
spins the spinner a total of 50
times, how many times could
they expect to land on red?
19 times

From the problem above, place
the letters on the probability line:

¢ d IP g :?
0 172 1

Experimental or Theoretical
probability?

Steven flips a coin several times
to see how often heads occurs.

© One Stop Teacher Shop & © BOOM! Feeny Math Resources
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Ensusinyg & bright fiture for ewery child

Questar

Grade 6 Reference Sheet
1 inch = 2.54 centimeters | 1 kilometer = 0.62 miles 1 cup = 8 fluid ounces
1 meter = 39.37 inches 1 pound = 16 ounces 1 pint =2 cups
1 mile = 5280 feet 1 pound = 0.454 kilograms | 1 quart= 2 pints
1 mile = 1760 yards 1 kilogram = 2.2 pounds 1 gallon = 4 quarts
1 mile = 1,609 kilometers | 1 ton=_2000 pounds 1 gallon = 3.785 liters

1 liter = 1000 cubic centimeters
1 liter = 0.264 gallons

Area (A)
. 1
Triangle A= P bh
Volume (V)
Right Rectangular V =hvh
Prism V = bh

LRI bR

AI0C000

Copyright © 2016 by Questar Assessment, Inc., All Rights Reserved.
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Name: Weelk | ' Date:

l 0 Mlke bought a box of l2 golf balls for $|8

SPIRAL BELLRINGER WEEK 27

" Determine if the two expreSStons are equwalent and
if so name the property that is being used.

(3x6)x9and 3 x (6 x 9)

e e e m mme vem et e e mm mer e e i e bl BN W B e e Rt S e bt BN N W R e Wm wemp wes M B R EE mm R e Ll e e e e

Beyonce performed 2 nights in NYC. The
first night she made $546,388.96 in
ticket sales. The second night she made
$614,944 .88. how much did Beyonce make
in all over both nights?

;  CEm W Cmry Cm e mE ms EE EE s o W e ver g

Solve the equation 2x = $I8 to find the price
for each golf ball.

S____
Use the Distributive Property :'0 Find the area
to simplify the expression. !
Then identify the coefficient. !
3(2y - 7) |
coef f ICIent . i

i
| _ ) . )



MONDAY

|.) dosx 00Tk Baxuz

MONDAY | 1)38 2)F+800 B

Tesoy | WEATENS o EEM |82

WEDNESDAY | 1)¢ T brmeea 3 )1 YEARS OLD
THURSDAY ) Vs assmveroe

3.)260SQ (M

e s

TUESDA | Ducsoeseo /MZ,: i e
E&'S275 [ %95 . .

WEDNESDAY ., |L)8150 2)(Y+5)-3 3)Y =X

THURSDAY ) 2X +10Y +9 2.) 867 SEATS 3)T=Y-8

o2 frde

Bﬁ“r‘i/\pﬁ»ey Ains s
for Week 27

MONDAY 1) YES: AssoctATvERRoPERTy | 2.) 8116133384 3)47.08368
1)$150 2)6Y-2 3)M3SQIN

TUESDAY | COEFFICTENT: 6
D) et [ [01% | 2)20CUBICIN )

WEDNESDAY | T = ’ it >

Whole | 10 |00 R Ml BN R R 0NN

1) 5FOR $49.99 2) 26 MBPER SECOND 3)P <65

THURSDAY
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Name Class Date

8F: Vocabulary Review Puzzle For use with the Chapter Review

.'......'l......'.'.....""...'...I'.........'.I..I'..---................C...'

study Skill Get plenty of rest before a major quiz or test. If you're
well rested, you may be able to concentrate better and retain more of
what you hear or see in class.

Below is a list of words grouped by number of letters. Fit each word
into the puzzle grid, Use each word only once.

<
=]
&
[+
o
c_.
Qo
-
.
21
=]
o
Lr AT
-

HEEN

Jletters 4 letters 5 letters 6 letters 7 letters
net area prism height pyramid

cone sphere

edge square

face vertex

volume
Sletters 9 letters 13 letters
cylinder  decompose  parallelogram
' perpendicular

.'l'....'".'....l.I..'.'..'.....-"I"...'...'..........'I.I'.C.l"."... .

Vocabulary and Study Skills Course 1 Chapter 8 273
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Class

Date

Name

8F: Vocabulary Review Puzzle

....I...'I'.......'.."'.I....'.'....'.'..'I..III'.....I."...'II.III'."...I'.

For use with the Chapter Review

study Skill Get plenty of rest before a major quiz or test. 1f you're
well rested, you may be able to concentrate better and retain more of

what you hear or see in class.

Below is a list of words grouped by number of Ietters, Fit each word
into the puzzle grid. Use each word only once.

B
P P
[HE[I1]G|H|T| o
R E F
Pl [R A
[A] [V[e[R][T[E[X] c]
R N C|O|N|E
E| E[D|G[E] Y
plY[rR[A[m[i[B] || B L]
R| E| |o a| 1
1 cl (u U] N|E|T]
H o] |[L] A D
M M| [A] R E|
IR PlA|R|AJL]L[E[L[o[G[R|A[M]
O
]
[vio|L|u[m|E
3letters 4 letters 5 letters 6 letters 7 letters
net area prism height pyramid
cone sphere
edge square
face vertex
volume
§letters 9 letters 13 letters
cylinder  decompose  parallelogram
perpendicular

.'I....'..'I...I".....I.II.I.'.....-'.|I.'....l..'I'.Q.".I'l'..."l..". L )

Vocabulary and Study Skills

Course 1 Chapter 8

273
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Name _ _ _ e Date _ _ _
Solve each problem. Show all work.

1). 6 X 0.25 2).36 Xx1.6

3).2.56x1.2 4). 3.36 X4

5).954.6 X 0.5 6).27.2x5.2

7). Ali bought 6 pens for
$0.76 each. How much did she
pay in total?

8). A recipe calls for 1.5 eups
of flour for ohe cake. How
much flour would you need to
make 4 cakes?

—_—_——_d

TeacherTwing©2015
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Qolve each problem. Show all work.

1).6 x 0.25 2).36 X 1.6
1.5

57.6

3).2.56 x1.2 4). 3.36 x4
3.072 13.44

477.3 141.44

7). Ali bought 6 pens for 8). A recipe calls for 1.5 cups
$0.76 each. How much did she | of flour for one cake. How
pay in total? $4.56 - |mueh flour would you need to
make 4 cakes? 6 cups

5).954.6 X 0.5 6).27.2 X 5.2 I

TeacherTwings©2015
EEEEEE PEEEEE IS I BN e E—— r——



Name _ _ _ o o Date _ _ o o e
Solve each problem. Show all work.
1). 6 - 0.25 2).36 1.6
3).2.56+2 4). 3.36 -4
6).27 +12

5).954.6 -5

7).Jack used 6 gallons of gas
to drive 138.3 miles. How
many miles did he travel per
gallon?

8). Ike ran a total of 15.75
miles over 5 days. How many
miles did he run per day?

TeacherTwins©2015

——_——__d
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Weel | Onswers

]

Dividing Decimals Practice

Qolve each problem. Show all work.

1).6+0.25 24 2).36 ~ 1.6 22.5

3).2.56+2 1.28 4). 3.36+ 4 0.84

5).954.6 + 5 190.92 6). 27 - 12 2.25

7).Jack used 6 gallons of gas |8). lke ran a total of 15.75

to drive 138.3 miles. How miles over 5 days. How many
many mileg did he travel per miles did he run per day? 3.15
gallon? 23.05 |

TeacherTwing©2015
EEESESE IEEEEEE PEEEEEE DEEEEE D SN e
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Big Idea: 1 can write and evalvate numbers with whole mumber exponents.
1) Write the expressionusing exponents. 2] Write the expressionusing expone nts.

12x12x 12x12 5x5x5+3x3x3x3

3) Write the expressionusing exponents. 4] Write the expression using exponents.

8x8x8x8x8 7X7+2x2x2
5) Solve. é) Solve.
5% 10%
7} Evaluate: 8} Evaluate:
23 4 43 32+ 52

9) Explain why 44is not the same as 4x 4. 10} Consuelo won the loftery. He can
Use words, numbers and/or drawings receive $100,0000r $3 onday 1, $9
in your explanation. on day 2, $27 on day 3... etc for 30
days. Which option wil give Consuelo
the most money?

Explain:

N ),

©2014 Lindsay Perro htip://www.bevondtheworksheet.co
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1) Write the expressionusing exponents.

12x12x 12x12

124

3) Write the expressionusing exponents.

8x8x8x8x8

35

5) Solve.

-
S5x5x5=125

7) Evaluate:

2%+ 6°

224

9) Explain why 4%is not the same as 4 x 4,
Use words, numbers and/or drawings
in your explanation.

HxH=l6
H=YxYxHdxH=256

\.

Big Idea: I can write and evaluate numbers wifh Wh@l& pummber exponents.

2} Write the expressionusing exponents.

5x5x5+3x3x3x3

5+3*

4) Write the expressionusing exponents.

7X7+2x2x2

?+2

6) Solve.

102

0 %10

8) Evaluate:

33+ 52

52

10) Consuelo won the lottery. He can
receive $100,000 or $3 onday 1, $9
on day 2, $27 on day 3... etc for 30
days. Which option will give Consuelo
the most money?

Option 2
Explain:

3*° =206 x 10"
approx 206000000000000
»

©2014 Lindsay Perro
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Coordinate Graphing Quadrants and Reading Ordered Pairs Practice
Name Date
Name the ordered pair for each point and identify the quadrant the point is in.

. | +

8

Ee-| g

| |
| |
| |
i |
| |
i |
| |
| i
| 8 1
L
1 Neo— 5 I8 I
| 4 I
1 Ae s o eD 1
| 2 |
= I :
I -10 g 8 -7 £ -5 4 3 2 4 01 2 3 4 5 6;* 8 9 10 .;(— I
-1 i

I K 2 # I
| s B 1
! oH J -4 '
| . |
I 6 | @ 1
l . I
| |
I y I
| |
| I
| I
1 A B C |
| |
I D E F 1
| |
I G H ! I
I I
I ] K L |
| I
I M N 0 "
| I
| I
| |
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i i
: Coordinate Graphing Quadrants and Reading Ordered Pairs Practice gm :
I Name Date I
I Name the ordered pair for each point and identify the quadrant the point is in. I
I | s |
| 17 I
| E®—M 1
i 6 |
L

: Neg 5 ¢ i

4 i
| Aeg 3 o ®D |
I 2 —& l
Jscr JaSEREE :
I _‘-103-3-7.5-5,-4-3 2 - 01234ss¢3910.; i

. X '
! K® 2 o '
1 3 B 1
! oH J g 1
I - I
| . | I
I 7 l
&C -8

i |
I V| I
1 1
1 |
| |
| |
i i
i i
| |
| |
| i
| |
I |
i |
i i
1 I
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between the x-values
and the y-values?

between the x-values
and the y-values?

3] What is the relationship

5) Write an equation fo
represent the pattern
in the table.

7) Write an equation to
represent the pattern
in the table.

X Y
1 2
2 4
3 é
X Y
1 1
2 4
3 9
X Y
1 3
2 6
3 4
X Y
8 ?
£ 10
10 11

\_

Big Idea: ¥ can identify and write rules describing patterns from tables.
1} What is the relafionship

2) What is the relationship
between the x-values
and the y-values?

4) Whatis the relationship
between the x-values
and the y-valuese

6) Write an equation to
represent the pattern
in the table.

8) Write an equation to
representthe pattern
in the table.

X | v
g8 | 4
10| 5
12 | 6
X | Y
3 | 45
4 | 55
5 | 65
X | Y
1| 2
2 | -
3]0
x | v
7 19
10 | 12
12 | 14

4/\
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- ™ . L [ .......... % “ % 5
Big Idea: 1 can identifiy and write rules describing patterns from tables.
1} What is the relafionship [y Y 2) Whatis the relationship |y Y
between the x-values between the x-values
and the y-valuese 1 2 and the y-values? 8 4
2 4 10 5
o 2 3 6 12 6
3} What is the relationship 4) Whatis the relationship
between the x-values X Y between the x-values X Y
and the y-values? 1| and the y-values? 3 45
2 4 4 5.5
3 ? S 6.5
5} Write an equation to é) Write an equation to ” Y
represent the pattern X Y represent the pattern
in the table. 1 3 in the table. 1 )
2 6 2 -1
; 3 9 3 0
y =3x% y=x-3
7) Write an equation to 8} Write an equation to
represent the pattern X Y represent the pattern X Y
in the table. in the table.
8 ? 7 9
? 10 10 12
- - 12
Y“x*,g | 10 11 yﬁx*z 14

\ 33
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Distance Between Points Coloring Page
Name Date

Find the distance between the points. Show your work in the box. Look for the answer on the bottom
of the page. Find the problem number on the coloring page and color the section the color given,

1. (-3,2)and {-3,5) | 2.{7, 6.5) and (8.5, 6.5} 3. (-6, 8) and (-6, 20)

4. (-4, 12) and (-4, 8) 5.(-8.5, 1.5) and {-6, 1.5) 6.(-13, -6) and {-7, -6)

10. (4.5, 7} and (9.5, 7) | 11.(6, 12.5) and (6, 14) 12. (-8, -6) and (-8, 6)

13. (0, -4) and (0, 3) 14.(-6.5, 4) and (-9, 4) 15. (12, -6) and (15, -6)

Black 1.5 White 6 Brown 3

Pink 12 Red 4 Yellow 2.5

Blue 7 Green 13 Gray 5

TeacherTwins©
I M IR I I

I 7.{10, -5) and (3, -5) 8.{12.5, 6) and (12.5, 10) | 9.{10, 12) and (-3, 12)

¢



14



Answer Key

Distance Between Points Coloring Page

W

Al

1 (-3, 2) and (-3, 5)

2.{7,6.5)and (8.5, 6.5)

15

3. (-6, 8) and (-6, 20)

12

4.(-4,12) and (-4, 8)

5.(-8.5,1.5)and (-6, 1.5}

2.5

6. (-13,-6) and (-7, -6)

7.(10,-5) and (3, -5)

8.(12.5,6} and (12.5,10)

9, (10, 12) and (-3, 12)

13

10, {4.5,7}and (3.5, 7)

11. (6, 12.5) and {6, 14}

15

12.{-8, -6) and (-8, 6}

12

13. (0, -4} and (0, 3)

14.{-6.5, 4) and {-9, 4}

25

15. {12, -6) and {15, -6}

_@@'9; &
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The Coordinate Plane Reflections Practice

Date

. Write the ordered pairs when (-2, 5} is reflected across the x axis and the y.

. Write the ordered pairs when (0, 7) is reflected across the x axis and the y.

. Write the ordered pairs when {1, 4) is reflected across the x axis and the y.

. Write the ordered pairs when (-3.5, 8.5) is reflected across the x axis and the y.

. Write the ordered pairs when (1.25, -7} is reflected across the x axis and the y.

. Across which axis do you reflect (3, 4) to get (3, -4)?
. Across which axis do you reflect (9,- 2) to get (-9, -2)?
. Across which axis do you reflect (4, 0) to get (4, 0)?

. Adam draws a reflection of the point (-5, -6). He gets the point (5, -6). Across which axis
did he reflect the point? How do you know?

. Stephen reflects the point (1, 7) across the x-axis. What are the coordinates of the
reflected point? How did you get your answer?

TeacherTwins©2015
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The Coordinate Plane Reflections Practice Answer Key

Name Date

1. Write the ordered pairs when {-2, 5) is reflected across the x axis and the y.
{25 (2,5)

2. Write the ordered pairs when (0, 7} is reflected across the x axis and they.
(0:'7) _____(0,7)__“_________

3. Write the ordered pairs when (1, 4) is reflected across the x axis and the y.
(1,-4) {14

4. Write the ordered pairs when (-3.5, 8.5) is reflected across the x axis and the y.
(-3.5,-8.5) __(3.5, 8.5)

5. Write the ordered pairs when (1.25, -7) is reflected across the x axis and the y.
_ {125 7 {125,-7)

6. Across which axis do you reflect (3, 4) to get (3, -4)? X axis

7. Across which axis do you reflect (9,- 2) to get (-9, -2)? y axis

8. Across which axis do you reflect (4, 0) to get (4, 0)? X axis

9. Adam draws a reflection of the point (-5, -6). He gets the point (5, -6}. Across which axis
did he reflect the point? How do you know?
y axis- X value becomes opposite

10. Stephen reflects the point (1, 7) across the x-axis. What are the coordinates of the
reflected point? How did you get your answer?

(1,-7) x axis makes the y value opposite

7,0



o Lrade Matfs SKILL REVIEW
Equivalent Expressions

Key Concepts:

How I feel about this concept:

. Aanher word for gquwclen’r is equal. | Completely Get m Strugging
« Equivalent expressions are the result
of using one of the properties of Pve Almost Got, I m Lost

mathematics or simplifying an
expression.,
» For example:
«5+2=7;where5+2and’/
are each expressions that are
equivalent.
« 4{2+ 3) =8+ 4(3) ; where 4(2 +
3} and 8 + 4(3) are equivalent.

I still don't understand:

Practice:

1] Write an expression that is
equivalent to : 2{3 + 4).

5) Correct one side of the equation so
the expressions are equal.
5(2+2)=10+2

2) Write an expression that is
equivalent to ; 20 + 5.

6) Correct one side of the equation so
the expressions are equal.
8+2+3=30

3) Write an expression that is
equivalent to : 100.

4) Write two different expressions that
are equivalent to : 25.

7) Correct one side of the equation so
the expressions are equal.
1+0.5=1+1%

8) Correct one side of the equation so
the expressions are equal.
10-x=x-10

© 2016/2018 Lindsay Pero Inc. All Rights Reserved.
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b
Directions: Read each problem carefully,

1) Write an expression that is
equivalent o : 2{x + 3}.

2) Write an expression that is
equivalent 1o : 26 + 4.

3} Write an expression that is
equivalent to : 1éx.

4) Write two different expressions that are
equivalent to : 200.

5} Write two different equations that are
equivdlent to : 20x.

© 2016/2018 Lindsay Perro Inc. All Rights Reserved.

EXTRA PRACTICE

6) Correct one side of the equation so the
expressions are equal.
8+ 2x=15x

7} Correct one side of the equation so the
expressions are equal.
140 = 2(10 + 40)

8) Correct one side of the equation so the
expressions dre equail.
10+x=x+10

?) Correct one side of the eqguation so the
expressions are equal.
Jx e T=b6x—2x

10) Correct one side of the equation so
the expressions are equal.
4{2x = 3) = 2{4x + 6)

[ www.beyondiheworksheet.com



SKILL REVIEW

Order of Operations

Key Concepts: How I feel about this concept:

» Grouping Symbols: All grouping | Completely Get It [ | Pm Strugging
symbols should be eliminated first.

+ Exponents: Simplify any exponents.

» Multiplication or Division: Simplify
multfiplication and division {whichever T still don't understand:
comes first} from left fo right through
the expression.

- Addition or Subtraction: Simplify
addition and subfraction (whichever
comes first) from left to right through
the expression.

Pve Almost Got It P Lost

Practice:

Simplify each expression using the order of operations.

1} 7+9 22 5) 2(3) + (8 + 4)

2) 8+42+5 6) 5+12+3+8

3) #2+(2+3+7)+5 7) 3+ (2+5)-2
4) 10-20+5+2 8) 32« (7+1}=2

&

© 2016/2018 Lindsay Perro Inc. All Rights Reserved. 155 www.bevondtheworksheet.com



EXTRA PRACTICE

Directions: Simplify each expression using the order of operations,

1) (25+5)+3-13

%) 22+64-4

3) 18+36+4

4) 6+16+2+2

5) 20+6~4+2

6) 50-20+2+5

© 2016/2018 Lindsay Perro Inc. All Rights Reserved.

8) 7+ {23+ 1-5)

9) 2+ (5% 4)~7+2

10) 3+ (5 + 6) - 23

11) 10+(9«6)+4+2

12) 2245+ (3+7)-2

13) 372+ {2+ 8]

www.beyondtheworksheet.com



SKILL REVIEW

- Writing Equations

Key Words:
Addition Key Words
Plus, Totdl, Increased
by, Combined, Add,
Sum, More than, In
All...

Mulliplication Key Words

Times, Double, Triple,
Product, Of, Multiplied
by, Twice, Muliiple...

Parenthesis Key Words
The quantity of,
The sum of,

The difference of...

Subiraction Key Words
Subtract, Take away,
Decreased by, Minus,
Fewer, Less than,
Difference...

Division Key Words
Quofient of, Per,
Divided by, Half,

Divided info, Split...

Equal Sign Key Words
Is, Equals, Is equal fo...

How I feel about this concept:

| Completely Get it I'm Struggling

I've Almost Got it I'm Lost

I still don't understand:

Practice:

Write an equation for each situation.

1) The difference of three times a number
and three is fourteen.

2} Eight minus the sum of a number and four
is thirteen.

3} Six minus the sum of a number and three
‘equals nineteen.

4} Ten less than the product of a number
and five is thirty.

5) Four less than a number cubed is twenty.

é) Twice the sum of three and a number is
equatl to seventy.

7) The quotient of a number and two,
sqguared, is four.

8} The sum of twice a number and two,
muttiplied by four equais fifty.

® 2014/2018 Lindsay Perro Inc. All Rights Reserved,
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Directions: Write each equation.

1} One fourth of the difference of a number
and sixteen is eighty.

2} One half of the difference of twice ¢
number and two equals four and a half.

3) The sum of a number and three, divided by
nine is eight.

4) Fifty times a number cubed is two hundred.

5} The quotient of three times d number and six
is twelve.

6) Seven more than half a number is equal to
three less than the number.

7) The sum of half a number and fwo equals
sight.

© 2016/2018 Lindsay Perro Inc. All Rights Reserved.

EXTRA PRACTICE

8] Seven more than the guotient of a number
and two is one hundred.

?) The difference of a number and three,
divided by two is equal to six.

10} The sum of eight and a number is equal to
the number squared,

11) The sum of three consecutive numbers is
eighty two.

12) Allie sold half of her bracelets. She bought
two more and now has fourteen. Write an
equation that can be used to determine
how many bracelets she began with.

13) Bijan had $x in the bank. He withdrew $104.
Now he has $42.

www.beyondtheworksheet.com



SKILL REVIEW

Two-Variable Relationships

Key Concepts: How I feel about this concept:

One variable depends on the other : | Completely Get It Pm Struggling

+  When checking out at a store, how -
much you spend depends on how Pve Almost Got It Pm Lost

much you bought.

+  When tfraveling, how fast you get to your
destination depends on how fast you I still don't understand:
drive.

Two variable relationships involve one
quantity depending on the other.

For example : in the equationx+ 5=v,y
depends on x. Why? The sum of a number
and 5 depends on that number.

Practice:
1) Complete the table 3) One pack (p) of socks is $2. Lef x
using the equation x y represent the total you spent on socks
y=2+ux. ] and p represent the number of packs of
socks you purchased. Write an equation
5 that can be solved to find out how many
pairs of socks you purchased.
3
4
2) Complete the table 4) Write an equation
using the eguation * Y that represents the x Y
y = 2x. 1 relationship between r 6
x and y in the table.
2 12 7
3 13 8
4 14 9

@ 2014/2018 Lindsay Perro Inc. All Rights Reserved. Tl www.beyondtheworksheet.com



EXTRA PRACTICE

ar T s

1) The table shows the relationship between the age of a free in

weeks, w, and the height of the iree in inches, . i A
Write an equation fo represent this relationship. ; ]86
3 24
4 32
2} Using the table in question #1, predict the 3) Explain how you found your answer to #2.

height of the free when it is 10 weeks old.

inches

4) The table represents the relationships y = 4x. Complete the missing parts of the table.

X i 3 _ 4
y 4 20
5} Using fhe table in question #4, find the 6} Explain how you found your answer to #5,

value of yif x = 25,

y‘

7) Describe a real world situation that can be modeled by the equation & table in #4.

© 2016/2018 Lindsay Perro Inc. All Rights Reserved. ui www.beyondiheworksheet.com



SKILL REVIEW

Graphing Inequdlities

Key Concepts: How I feel about this concept:
“The dot” : | Completely Get it I'm Struggling
o Open dots : <and > Pve Almost Got It Im Lost

« Closed dotfs:<and >

T still don't understand:

The arrow :
<« Pointing left : <and <
->» Pointing right : > and >

Practice:
Graph each inequality on the number line.
Nx<-8
.0 9 8 - 6 5 4 -3 -2 -1 0 1 2 3 4 5 6 7 8 9 10

21 x> 6

- 1 [l ] L 1
1] T

"0 9 8 -7 6 5 -4 3 2 -1 0 1

"~
w
s
-
o
=
©
0

10

3jx>-1.5

. L ] 3 l 1 L L [ (] [ ]
1] T T 1 T T

"0 9 -8 -7 -6 5 4 3 -2 -1 0 1 2 3 4 5 6 7 B 9 10

L 4

4 x> 1

,.
B
v

® 2016/2018 Lindsay Perro Inc. All Rights Reserved, i www, beyondtheworksheet.com



EXTRA PRACTICE

Directions: Graph each inequdiity.

11x210

2)x<8

3} Explain how you decided to graph the inequality above.

4) x>0

6} Explain how you decided to graph the inequality above.

© 2014/2018 Lindsay Perro Inc. All Rights Reserved. R www.beyondtheworksheet.com



SKILL REVIEW

Solving Inequalities

Key Concepts: How I feel about this concept:
Inverse Operations: | Completely Get It 'm Struggling
The inverse of addition is Pve Almost Got It i Lost

The inverse of subtraction is

The inverse of multiplication is I still don't understond:

The inverse of division is

You can be absolutely sure you
have 100% of your inequalities
solved correctly if you take the time
to check your answers.

Practice:

Solve for x.

1) 7x <21 : | 4y x—-25>30
2)2+x26 5)x-5<4
3 x-12>4 6) 10x > 40

Is the given number a possible solution to the inequalitye
Ax+5<20,150 B)x+2<10; 25

Lad

© 2016/2018 Lindsay Perro Inc. All Rightis Reserved. 17
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EXTRA PRACTICE

Directions: Solve each inequality.

1) Solve forx: x+ 2> 24

Show your check.

5} Solve forx:  5x <40

Show your check.

2) Solveforx: x—-25<4

Show your check.

6) Is the given number a possible solution for
the inequality? 9x > 72; 10

3} Is the given number a possible solution for
the inequality? x + 2 < 45; 50

7)Solve forx: x+3<50

Show your check,

4} Solve forx: x+13> 14

Show your check.

8) Solveforx: x+5>30

Show your check.

© 2016/2018 Lindsay Perro Inc. All Righis Reserved,
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SKILL REVIEW

Writing Inequalities

Key Concepts: How I feel about this concept:
“The dof” :
| Completely Get it I'm Strugglin
o Opendots:<and?> peLel 99Ing
« Closeddofs: <and > Pve Almost Got i I'm Lost
The arrow :
< Pointing left : <and <
> Pointing right : > and > I still don't understand:
Key Words :
> <
greater than, more than, less than, fewer than,
bigger fhan, over... under, smailler than...
bd <
ot least, a minimum of, at most, a maximum of,
greater than or equdil to, less than or equal to, no
no less than... more than...

Practice:

1} A number is no more than fourteen. 5) oy emmm—m——Q

2) A number is at most eight. 6) P S >

3) Mike wants to earn least ten dollars. /) e — .,

a 1 2 3 4 5 [] 7 a 10
4) The number of kids on each feam is 8) QO _— .
smaller than nine,

© 201 6/2018 Lindsay Perro Inc. All Rights Reserved. 109 www.beyondtheworksheet.com




EXTRA PRACTICE

Directions: Write each inequality.

1) A number is a minimum of 100, 8) iy g O
2} A number is fewer than zero. 9 et ' >—
3} A number is over fifty. 10} ——€——————
4) Kyle has less than $40 in the bank. 1) — TP
5) Allen ran a maximum of 15 miles this week. 12) €@ ———
6}' Alisha ate at least two pleces of pizza. 13} sty Ot —
7) There are over 840 s’ruderj’rs in school. 14) et ———
© 2016/2018 Lindsay Perro Inc. All Righls Reserved. 170 www.beyondiheworksheat.com



SKILL REVIEW

Solving Equations

Key Concepts: ' How I feel about this concept:
Inverse Operations: | Completely Get, It I'm Struggling
The inverse of addiionis __ Pve Almost Got It fm Lost,

The inverse of subifraction is

The inverse of multiplication is T shill don't understand:

The inverse of division is

You can be absolutely sure you
have 100% of your equations solved
correctly if you fake the time to
check your answers.

Practice:

Solve each equation.

1) 7x = 49 4) 23 +x=30
2} 2+x=26 5)x—75=4
3)x—-8=4 6)x+2=8

Is the given number a solution fo the equation®
7Vx+5=40;,x=8 8) 15x =45, x=3

® 20164/2018 Lindsay Perro Inc. Ali Rights Reserved. 165
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EXTRA PRACTICE

Directions: Solve each equation. Show your work.

1} Solve forx: x+ 12=24 5} Hilda can run one mile in 7.5 minutes. Write
and solve an equation to determine how far
she-can run in 67.5 minutes.

Show your check.
Show your check.

2) Solveforx: x-20=4 6} Is the given number a solution to the
equalion? 9x=72x=8

Show your check. 7) Kiara has $450 in the bank. After buying

groceries she has $398.72 left in her account.
Write and solve an equation to determine
how much she spent at the grocery store.

3) Is the given number a solution to the Show your check.

equationg x+ 12 =15 x=27

4} Mrs. Jacobs purchased 10.2 ounces of 8) Solve forx: x+1.5=30
candy for her class. Each student gets 0.85
ounces. Write and solve an equation to
defermine how many students are in Mrs.
Jacobs' class.

Show your check.
Show your check.

@ 2016/2018 Lindsay Perio Inc. All Rights Reserved. 166 www.beyondtheworksheet.com



Name:

Weekly Math Review — Q4.1

Teacher:

Monday Tuesday

Wednesday

Thursday

Solve. Find the quotient. Solve. Find the quctient.
7,390.7 — 0.874 5 . 7 _ 3.9 x9.87 2, 4
7 10 9 15
843.48 + 2,894.2 3.141 + 0.45
Fil in the blank. 84 is what percent of 105% Mitchel ate 45 hotdogs in Joe read 140 pages of his
_ 3 minutes at the annual hot 300-page hook, What
3,450 mL = L

dog eating contest. What is
Mitchel's unit rate?

percent of the book has he
read?

What is the value of

Evaluate the expression.
6x% + 4x + 8, when x = 77

(4+6)x6+3-1%3

Andrea deposited 138
dollars into her bank
account. Write an
expression representing
Andrea's bank account.

Write an equivalent
expression for
24x + 16

List 3 values that would

Solve for r
make this inequality true,

=10
y+7 > 18 80 = 10r

1 1

Kathy swims at least & laps
every day. Write an
inequality to show how long
Kathy swims each day.

Write the inequality this
number line represents.

3 4 567 8B 91011 12

A 1-day movie rental at Red

Find the area.
Box costs $1.39. For each

Find the rule. Solve for n.

There are two squares.

Zin

4¢m
B

6cm

1
35 in

7em X Y One has a side length of
additional day there is a fee 3 30 42 inches and the other has

of $0.50. How mugch will it 4 40 a side length of 14 inches.
cost to rent a movie for 2oem. 6 n What is the total area of both

7 days? tlem 7 70 squares?
Ao, Rule:
Find the Volume. Find the surface area. Luis's cedar chest measures | A rectangular chair cushion
4 feet long, 2 feet wide, and measures 14 inches long,
ot i 2 Y feet high. What is the
3

volume of the chest?

12 inches wide, and 3 inches
" high. How many square

inches of fabric would you
need to cover the cushion?

Draw a line plot to correctly display the data.

1,1,1,1,3,3,4,4,4,8 12

Find the mean absolute
deviation of the set of data.

Andrea's math test scores
were 76, 88, 82, 94, and 88.

Find the mean.
8,7,46,06
Mean = Median = Mode = Range =
Use the box-and-whisker plot to answer the question below. Rewrite this non-siatistical Find the mean absolute
— i

H

I ) ] 1 | | () 1 ] | [l }
| — ] ] 1 13 | I 3 T | 1 1

[

1
4 5 6 7 8 9 10 11 12 13 14 15 16
What is the interquartile range?

question as a statistical
gquestion.

How much money does my
teacher make?

deviation of the set of data.

2,4,5/ 53

Determine if each example

Write the integer that best
is positive or negalive.

represents 23 degrees
below zero,

Earned 25 dollars
20 feet below sea level

4 degrees below zero

Graph the inleger 2 and its
opposite on the number fine.

U A [VUVURY AU NN RSN A U E

Graph the integer 6 and its
opposite on fhe number line.

I S HD S B T T B
6 5 4 3 -2 1 0 1 2
Graph the integer 4 and its
opposite on the number line.

L

|
| A S B R AN T B B
4 -5 4 3 2 1 0 1 2
Graph the integer 0 and its

I S N TN S U S |

opposite on the number line.
| SR OO N T N N Y T

|
I T T
s

|
| 1
S S, Py S T | N I |

1T T 1 T 1T T

BN Y TP N S | S
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Name:

Weekly Math Review — Q4:2

Teacher:

Monday

Tuesday

Wednesday

Thursdcsy

houses?

Solve. Find the quotient. Solve. Find the quotient.
94.2 - 3.89 4 1 7.02x0.85 10 . 8_
7 5 11 9
4,390.2 + 57.304 53.76 + 2.1
Fill in the biank. What is 88% of 507 Jared made 4 bird houses in Maria's math test had 25
3 days. How many days will guestions, She got 8§4%
55dm = m Jared work to make 20 bird

correct. How many problems
did she get wrong?

What is the value of
8% + 5x, when x = 127

12+(BxX(4+3) +2)-6

Evaluate the expression.

Soive for z

z+17 =38

Write an equivalent
expression for
8y+12+2y+8

List 3 values that would

Find the ares.

Find the rule. Solve for n.

Jocelyn is going to put wood

make this inequality true. X Y floors down in her living
23 16 room. The room is 24 feet
180 > 15y 3 25 18 long and 15 feet wide. How
g 28 n many sguare feet of wood
32 25 does Jocelyn need?
' ' | Rule:
Find the Volume. Find the surface area. The post office is now Angie is wrapping a present for
caiculating the volume of her best friend. The box is 16
packages to determine the inches long, 12 inches wide,
2in 2em shipping cost. If a box and 3 inches high. How many
i < measures 8 ¥ inches long, square inches of wrapping
: 45 <» § Y inches wide, and 7 inches | paper does Angie need for her
10g in o S e high, what is its volume?

present?

Mean = Median =

Draw & line plot to correctly display the data.
4, 5,8, 9, 13, 14, 14, 14, 15

Mode =
What is the best meastire of center?

Range =

Find the meah absolute
deviation of the set of data.

9,12,3,5,8

Jorge bowled 5 games.
He scored 131, 110, 128,
105, and 120. What is the
mean of Jorge's scores?

Use the box-and-whisker plot to answer the question below.

L

l i

] l I I

] | 1 H i }

-
| - t I r 1
6 8

I I | l b b

10 11 12 13 14 15 16 17
What is the interquartile range?

Rewrite this non-siatistical
question as a statistical
guestion.

How old is my mother?

Find the mean absolute
deviation of the set of data.

4,5 8,8, 10

Graph the integer -3 and its
opposite on the number line,

Place the number 3.4 on the

Graph the inieger 4 and its

number line, opposiie on the number line. number line.
N S N O N B S S o e e e e B e e P TR PO T VY S TN TN TR SN T M T
} i — ] I b o 4: I } E ; } = —f— 1; | I I B e A et | G1
6 5 4 32 4 01 2 3 6 5 4 3 -2 401 2 3
Graph the ordered pair (3, 5) and its | Graph the ordered pair (5, -2} and

Place the number 5.7 on the

reflection over the y-axis.

ils refleciion over the x-axis.

Graph the ordered pair {~1, 3) and
its reflection over the y-axis.

Graph the ordered pair (-5, -3) and

-] JA .
6

IIEXN -

el

its reﬂecl:nn over the x—axis
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Name:

Weekly Math Review — Q4:3

Teacher:

Monday

Tuesday

Wednesday

Thursday

math homework. How long
will it take lvanna to

Solve. Find the quotient. Solve. Find the quotient.
3,390.02 — 67.008 3 . 5_ 89.1 x 0.47 8 . 1_
10 6 10 4
394,029 + 5.38 45724 + 0.07
Fill in the blank. What is 32% of 927 It takes Ivanna 3 minutes to Emma is praclicing & back
complete 2 problems on her | handspring in gymnastics class.
8 km = m She does it perfectly 8 out of 12

times. What perceniage were
perfect?

(65+(§x5)+6)+9

complete 12 prablems?
What is the value of Evaluate the expression. Solve for h List 3 vajues that would
Tx—2% + 3, when x = 57 make this ineguality true.
32h = 288

42 < 24 +y

1 tHl

Find the Volume.

1
85 cin

3 cm
18 T m

Find the area.
2in

9 in
2in
ilin

Find the surface area.

20cm

A cell phone measures 10
cm high, 8 ¢m long, and 2
cm wide. What is the
volume of the cell phone?

Mean = Median =

Draw a line plot to correctly display the data.

9,3, 4,44,

What is the best measure of center?

3, 2,2, 20,20

Mode = Range =

Find the mean absoluie
deviation of the set of data.

3,8, 10,12, 15

Each night Emily gets math
prablems for homework. This
week she got 12 problems on

Monday, 18 aon Tuesday, 15, on
Wednesday, 24 on Thursday,
and 30 on Friday. What is the

mean?

Draw a box-and-whisker pilot fo represent the data below.
7.8,10,13,14,17,22,22,24

Rewrite this non-statistical
question as a statistical
question.

How many minutes do |
exarcise each day?

Find the mean absolute
deviation of the set of data.

1,4,7, 8,10

Graph the integer -2 and its

Place the number 3.1 on the

Graph the integer 0 and its

Place the number 5.9 on the

its reflection over the
S A

y-axis.

its reilection over the x-axis.

L.

Graph the ordered pair (3, 2) and its
reﬂectilon over {he y-axis.
! )

" A

T =T

R LTI T

4
iy
1
I
ful
1~
]
L

Gl {w]e ~|

T
[
2
3
r
5

LR

opposite on the number line. number line. opposite on the number fine. number line.
| [ | | 1 1 | | q [l ] ] | L 1 [ ] i ) 1 1 i | 1 0 i 1 t t i 1 { L | 1 1
Nt T T T T, B s e e e e e AL L L L
4 5 4 3 2 1 0 1 2 13 6 5 4 -3 2 <1 0 1t 2 2
Graph the ordered pair (0, -4) and Graph the ordered pair (-3, 1) and

Graph the ordered pair (-3, -2) and
its refiection over the x-axis.

| roh
L

|
|
T
I

PO ] I I A 1T R B SE

| L] i |

Place the following numbers
on the number line.

-2.75,-0.35, 1.4, 2.82

Piace the following numbers on
the number line.

-2.42,-0.8,0.33, 1.23

Compare the numbers with
> < =,

|
r | Y I D

Compare the numbers with
> <, =,

1
Z -4
9

-0.43 -2.3
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Name:

Weekly Math Review — Q4:4

Teacher:

Monday

Tuesday

Wednesday

Thursday
Solve. Find the quotient. Solve. Find the quotient,
382.04 - 6.3 5 .03 83.49 x 1.48 5. 2o
6 4 5
49.038 + 4.97 437.968 + 2.8
Fill in the blank. 16 is what percent of 257 Katie runs 4 miles in 24 Out of 30 problems on a tesi,
minutes. How many miles { Jose got 4 wrong. What
4m= km can she run in 30 percentage did Jose get
minutes? correct?
What is the value of Evaluate the expression, Solve fory List 3 values that would
4(3x + 5), when x = 117 make this inequality true,
45+ 2+ (3.5x% 4) 25=y-11 gn 2 117

Find the Volume,

Find the area of the shaded

Find the surface area.

1 region, in her bedroom. The botiom
9- cm part of the wall is a rectangle
3 3em {16ft x 18ft), and the top part
121 A is a triangle (8 ft high x 184t
21l em 6 fong). What is the total area
7cm rTm aom of the wali?
Draw a fine plot to correctly display the data.

1 ’

Hailey is going to paint a wall

Mean = Median =

Mode =
What is the best measure of cenfer?

3,3,5/5,57,7,8,15,15

Range =

Find the mean absolute
deviation of the set of data,

2,3,57,9

To get ready for the big
community bake sale, a baker is
baking cookies. For his first
batch, he makes 48 cookies,
second 78 coukies, third 54
cookies, and fourth 68 cookies.
What is the mean?

Use the box-and-whisker plot to answer ihe question below.

b I

_—

I { | ] 3 ]

T LI
12 13 14 15

]
T T ¥ I ] [

16 17 18 18 20 21 22 2% 24
vyhat Is the Imerquanie range’s

Rewrite this non-statistical
guestion as a statistical
question.

What did 1 score on my math
test?

Find the mean absolute
deviation of the set of data.

6, 6, 8,10, 10

Graph the ordered pair {0, 0) and ils
eflection over the y-axis.

Graph the ordered pair (-2, 6) and
its reflaclion over the x-axis.

Graph the ordered pair (5, 5) and its
reftection over the x-axis.

Graph {he ordered pair (-5, -5) and

34

I A

L

b
b
I

"
3

its reflection aver the y-axis.
H rA

e e

ISR

e

[ORE I R e ey

P R

v af ] sl =

L R S B

Place the following numbers on
the number line.

Place the following numbers on
the humber fine,

Comparé the numbers with

>, <, =, L
1
-1.25,0.1,2.9,-26 -3, -0.75; 0.42, -2.1 -6 i - 5 -0.75
L1 3 1 | I 52__ -89
Hiltlllllilillll -4 -3
If point A is located at (-6, 3) on

Compare the numbers with

a coordinate plane, and point 8

is located at (-6, 0), what is the

distance between the two
points?

if point A is located at (2, -3),
and there are 10 poinis
between A and B, what could
be the possible coordinates for
poin{ B?

On a coordinate plane, a
triangle is located al (3, 4), and
a square is located at (10, 4).
What is the distance between
the square and triangle?

Jonathan places a slaron a
coordinate plans at (-2, -7). He
wanls to place another star
across the y-axis, 5 poinls
away. Where will Jonathan

place the other star?

One Stop Teacher Shop
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Junior Scholastic

MAP SKILLS BOOT CAMP  Name: Date:
LESSON 9
ER

point for the zones. That imaginary line runs through zone. The day changes when you cross the international

Greenwich—a part of London, England. The time at date line (180° longitude).

the prime meridian is known as Coordinated Universal The map below shows U.S. time zones, Of the world’s

Time (UTC). 24 standard time zones, the U.S. spans six, The boundaries
The map on p. 1 shows the world’s 24 standard time don’t always follow straight longitude lines, however. Some

zones, The top bar displays the time in each zone when it zigzag so communities that are close to each other can
is noon in London. The bottom bar shows how many hours  be in the same time zone, for example, or to allow for the
to add or subtract from UTC to calculate the time for that presence of a mountain range or other natural division.

U.S. TIME ZONES

f 12y,

Alaska and Hawall are nof drawn
to scale or placed in their proper
geagraphic posftions.

€% National capital ¥ State capital oCity m==Time zone border

NOTE: Both maps reflect standard time, not daylight saving time (DST). In the U.5., Hawall and most of Arizona do not observe DST,

JUNIOR SCHOLASTIC » MAP SKILLS « TIME ZONES » PAGE 2 OF 3

Uses: copy maching, opague projector, or transparency master for overhead projector. Scholastic Inc. grants teacher-subscribers to Junior Scholastic permission to reproduce this page for use in their classrooms. ©2017 by Scholastic Inc. All rights reserved.



Junior Scholastic

MAP SKILLS BOOT CAMP Name:
LESSON 9

se Your Skills

Use the maps on p. 1 and p. 2 to answer the questions.

1. When it is noon in London in the United Kingdom,
what time is it in New York City in the U.S5.?

2. One of the world’s biggest countries has only one
time zone. Which country is it?

3. When it is noon in Boston, Massachusetts, what
time is it in Denver, Colorado?

4. Most of Kansas is in which time zone?

5. Mexico City is in the same time zone as which
labeled city in the U.S.?

6. The international date line runs mainly along
which meridian (line of longitude)?

Date:

7. If you were to fly from Austin, Texas, to Chicago,

10.

lilinois, then on to Minneapolis, Minnesota, how
many times would you have to adjust your watch?

. If you turn your watch from 3:45 p.m. to 8:45 p.m.

after a flight, in which direction did you travel?

. If the president of the U.S. is making an important

speech at 6 p.m. in Washington, D.C., what time
would people in Anchorage, Alaska, tune in to
watch it live?

Your friend lives in Tokyo, Japan. She wants you
to call her on Wednesday at 8 a.m. Tokyo time.
You live in Chicago. What day and time will it be
in Chicago when you call your friend?

Consider This

What kinds of prcblems might atise if the entire world were to go by the same time—for example, If it were

noon everywhere at once?

JUNIOR SCHOLASTIC « MAP SKILLS » TIME ZONES » PAGE3 OF 3
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Junior Scholastic

MAP SKILLS BOOT CAMP Name: Date:
LESSON 8

The 10 mesi-populous

region’s population density, divide its population (number of nations in the world are:

people} by its area (number of square miles). 1. China ....eccrveecenennennns. 1.4 billion

2. India ... 1.3 billion

» Cities of 16 million or more: The map on p. 1 shows the location of 3. US. o324 million

cities that have 16 million or more people living within official city 4. Indonesia 258 million

limits. That means people living in a given city’s suburbs were not — - T

. . . 5. Brazil ..................... 206 million
included in the population count.

6. Pakistan .............. 202 million

7. Nigeria ................. 186 million

8. Bangladesh ......... 156 million

9, RUSSIA ....coorrrrrereee 142 miillion

10. Japan ... 127 million

SCOURCE: The World Factbook (ClA);
July 2076 estimates

Use Your Skills

Use the map on p. 1 and the chart above to answer the questions.

1. The darkest color represents how many people 6. How many continents have at least one city with
per square mile? 16 million or more people?
2. Which continent (not counting Antarctica) 7. Which region of the United States has fewer
averages the fewest people per square mile? peoptle per square mile, the Northeast or the
Southwest?
3. In which part of that landmass are most of the 8. The world’s two most-populous countries are on
people located? which continent?

9. The world’s most-populous country has how many
4. How many people live in the city of Lagos, cities highlighted on the map?
Nigeria? How can you tell?

10. In terms of this map, what do northern North
America and southern South America have in
common?

5. Which continent is more densely populated,
Africa or Europe?

Consicder This
The world’s total land area is about 197 million square miles and its total population is 7.3 billion. What is the

world’s population density, and under which range in the map’s key does it fall?

JUNIOR SCHOLASTIC + MAP SKILLS « POPULATION MAP » PAGE 2 OF 2
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Junior Scholastic

Map Skills Boot Camp Answer Key

Here are the answers for all the Map Skills Boot Camp skills sheets.

LESSON 1: GL.LOBES AND
HEMISPHERES
1. equator (0°)
2. prime meridian (0°) and 180° line
3. South America and Africa (It also
passes through Asia, but that Isn't
shown on these glohes.)
4. Europe and Africa
8. Eastern Hemisphere
6. Arctic Ocean
7. Australia (It is entirely in the Southern
and Eastern hamispheres.)
8. prime maridian (0°) and 180° line
{They also meet at the South Pole.)
9, North America and Europe (it doesn't
show on this map, but a small portion
of Asia extends south of the equator.)
10. north

Conslder This: No. The poles are the
farthest points north and south it is
possible to go on a globe. From the North
Pole, any direction you travel in is moving
south; from the South Pole, any direction
you travel in is moving north.

LESSON 2: LATITUDE AND
LONGITUDE
1. equator
2. prime meridian
3. lines of longitude, alse called meridians
4. lines of latitude, also called parallels
5, 90 degrees south (90°5)
6. North Pole
7. about 15°W
8. about 55°5
9. Asia
10. South America

Consider This: Answers will vary.

LESSON 3: DIRECTION AND
DISTANCE
1. ldaho and Wyoming
2. North Dakota and South Dakota
3. northwest
4. about 350 miles
5. southeast (from Santa Fe to Austin)
6. about 600 miles
7. about 950 kilometers
8, Little Rock, Arkansas (about 325 miles),
and Jackson, Mississippi (about 330 mites)
9, Richmond to Albany: northeast; Albany
to Madison: west (slightly southwest)
10. Richmond to Albany: about 400 miles;
Albany to Madison; almost 800 miles

Consider This: Answers may vary,

but, essentially, in order to show Alaska
and Hawail in their correct locations and
relative sizes, the map would have o be
much bigger. Alaska is the largest state
and Hawail is one of the smaliest (47thin
land area), but in their inset boxes they're
pictured almost the same, 50 the same
scale can’t be used to measure distance.

LESSON 4: POLITICAL MAP
1. Belgium
2. $40,000 to $54,299
3. eight (Austria, Denmark, Finland,
France, Germany, Netherlands,
Sweden, United Kihgdom)
4. Portugal and Spain
5. one (lreland)
6. Romania and Bulgaria
7. %$10,000 to $24,929
8. Croatia and Cyprus
9, Zagreb (Croatia} and Nicosia (Cyprus)
10. Luxembourg; it is the only E£.U. member
that is color-coded (dark green) for the
“$70,000 and up” category,

Consider Thls: Answers will vary.
Example: The poorer nations may need
more help building their economies
(creating jobs, new business opportunities,
etc.); the wealthier countries may resent
having to help provide for the needs of the
pooter countries,

LESSON 5: PHYSICAL MAP

1.red

2. over 10,000 feet above sea level

3. Kabul (Afghanistan’s capital)

4. Mazar-e-Sharif (it is at 1,000 to
4,999 feet above sea level, compared
with Kandahar's 500 to 999 feet.)

8. Amu Darya River

6.1,000 to 4,999 feet above sea level
(yellow)

7. 500 to 999 feet above sea level
(light green)

8. Wakhan Corridor

9. Tajikistan, China, and Pakistan

10Q. southwaest (flowing from the highest
land in the center of the country into
a lower-level lake on the Afghanistan-
Iran border)

Conslder This: Enemy and terrorist
groups have been able to evade U.S. and
allied forces by hiding in the mountainous

terrain of ceniral and eastern Afghanistan,
They also have been able to cross into
Pakistan; U.S. troops can't follow them

into another country’s territory. Those and
other difficulties contribute to making the
fighting in Afghanistan the longest-running
contftict in U.S. history.

LESSON 6: SCALE MAPS

1. large-scale map

2. small-scale map

3. small-scale map

4, large-scale map

5. Cuba, Jamaica, Haiti, and the
Dominican Republic (The Cayman
Islands and Puerto Rico are territories
of the U.K. and the U.S,, respectively.)

6. North America

7. about 400 miles

8. about 300 miles (between Kingston
and Port-au-Prince)

9. small-scale map (The distance between
tick marks on the small-scale map is
100 miles, On the large-scale map,
the distance between tick marks is
50 rniles.)

10. large-scale map (The capital is
Santo Domingo; its coordinates are
approximately 18°N, 70°W.)

Consider This: Answers will vary.

LESSON 7: CLIMATE MAP

1.10 to 80 inches (light to heavy)

2. South America

3. Antarctica (average annual rainfall of
{ess than 10 inches in all but a few small
spots)

4, South America (part of the Amazon
tropical rainforest}

5. more than 80 inches average annual
rainfall

6. very wet—almost solidly shaded to
indicate an average annual rainfall of
more than 80 inches (very heavy)

7. an average of less than 10 inches (very
light)

8. light to heavy (10 to 80 inches average
annual rainfall)

9. northern Africa, because that's the
location of a large expanse of fand that
gets an average annual rainfall of less
than 10 inches (very light)

10. Answers will vary, but may include the
observation that the tan color suggests
sand or dry soil, as in a desert, and

JUNIOR SCHOLASTIC « MAP SKILLS BOOT CAMP » ANSWER KEY+* PAGE 1 0OF 2



Junior Scholastic

Map Skills Boot Camp Answer Key, cont’d.

the dark purple [ooks like wet spots.
If the celors were reversed, the map
could stifl be read, but probably less
effectively without the visual cues
suggesting dryness and wetness.

Consider This: At either extreme,
weather conditions would make it difficult
to grow crops. Very dry areas could also
posa prohlems for getting encugh drinking
water. Heavy rainfall presents risks of flood
damage ta homes and cother property.
{Other answers are acceptable.)

LESSON 8: POPULATICN MAP
1. more than 100 people per square mile
2. Australia
3. along the eastern and southeastern
coasts
4,16 million or more; Lagos is indicated
by the symbol (a circle) that, according
to the map key, represents a city with
16 million or more people
5. Europe
6. two {Africa has ane, Asia has the other
four)
7. the Southwest
8. Asia (China and India)
9. two (Beijing and Shanghai in China)
10. Both are sparsely populated—less than
one person per square mile.

Consider This: 37 people per square mile
(7,300,000,000 + 137,000,000 = 37.06 =
37); the 26-t0-50 range

LESSON 9: TIME ZONES
1.7am.
2. China
3.10 am,
4. Central
8. Chicago (lllinois)
6.180°
7.none (They're all in the same
time zone.)
8. eastward
9.2 p.m.
10. Tuesday at 5 p.m.

Consider This: Answers will vary.

LESSON 10: POLAR MAPS

1. three (Pacific Ocean, Atlantic Ocean,
indian Ocean)

2. Canada (Ellesrere Island) and
Denmark {Greenland)

3. South Ametrica

4. about 750 miles

5. about 2,800 miles

6.150°W and 30°E

7. south
8. north
9. Antarctic Peninsula
10. North Pole (90°N) and South Pole
(90°5)

Consider This: Answers will vary.

LESSON 11: HISTORICAL MAP

1. seven (see map key)

2, France

3. 1960 (Senegal, Mauritania, Mali, Cote
d'Ivoire, Burkina Faso, Togo, Benin,
Niger, Chad, Camercon, Central Aftican
Republic, Gabon, Republic of the
Congo, Madlagascar)

4, oldest: Ethiopia, founded 1000 r.c,;
youngest: South Sudan, independent
in 201

5. Great Britain

6. 84 (1994 [see first footnote] minus
1910)

7. Liberia

8, Spain

9. S30 Tomé & Principe, Angola, and
Mozambigue

10. Namibia (from South Africa), South

Sudan (from Sudan), and Eritrea {from
Ethiopia). Each is marked by gray
stripes, which indicate a non-European
power (see map key).

Consider This: Possible answers include
that boundaries drawn without regard for
the people living in a place could have
split longtime alliances or forced people
with no common interests—or, worse, with
a long history of antagonism—to have

to work together as a nation. It may also
have unevenly dispersed natural resources.
Other answers acceptable.

L ESSON 12: COMPARING
MAP TYPES

1. political map

2. hardwood forest

3. eastern Australia and the island state
of Tasmania

4. Queensland, New South Wales, and
Tasmania

5. about 1,600 miles (betwaen Darwin
and Adelaide)

6. Tasmania (the west side of the island)

7. Darwin {the Northern Territory)

8. 10 to 60 inchas average annual rainfall,
light to heavy {for Canberra)

9. largely dry and mountainous; all three
(from the political map: mountainous,
with several deserts; from the physical
map: very littie forest land—only the

northern and southern parts have
forest; from the climate map: the
middle of the state is very dry—less
than 10 inches average annual rainfall}
10. Murray River; political map (The
physical and climate maps also show
that a river forms part of the boundary,
but the political map is the only one
that names the states and the river.)

Consider This: Answers will vary. Some
possibilities include economic map
(showing per capita GDP by state/territory),
time zone map (Australia has three time
zones), historical map, population map, and
small- and large-scale maps (example:
small-scale for the state of New South
Wales; large-scale for the Australlan Capital
Territory and the ¢ity of Canberra).

LESSON 13: MAP PROJECTIONS

1. Earth is round. When a curved surface
is reproduced on a flat surface,
direction, distance, shape, and
area become distorted.

2. Peters

3. Winkel tripel

4, Mercator

5. In the Winkal tripel projection, only
the lines that cross in the center are
straight. in the other two projections
(Mercator and Peters), all lines of
latitude and longitude are straight.

6. Peters

7. Mercator

8. On a Mercator map, sizes are distorted,
with the distortion increasing as you
move farther from the equator, and
Greenland is far to the norih.

9, Africa is about 14 times as large as
Greenland. (See the chartonp. 1)
Africa’s area is 1.7 million square miles;
Greenland’s is only 0.8 million square
miles.

10. Mercator; latitude and longitude
lines are straight, corresponding with
compass points, and landmass shapes
are accurate.

Consider This: Answers may include that
Earth is round, so any attermpt to represent
it on a flat surface creates distortions,
which are most evident at the poles. The
North Pole is in the Arctic Ocean, so the
northern distortion is not as obvious as that
of Antarctica, the landmass that surrounds
the South Pole.

JUNIOR SCHOLASTIC » MAP SKILLS BOOT CAMP « ANSWER KEY+ PAGE 2 OF 2
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Drawing on science to illustrate dinosaurs

By Joy Lanzendorfer, Washington Post on 06.10.19
Word Count 506
Level MAX

One of Julius Csotonyi's murals can be seen in the new "Deep Time" exhibit at the National Museum of Natural History. Photo: Dayna
Smith/The Washington Post

Most people know what a Tyrannosaurus rex looked like. Its snarling teeth, slashing tail and tiny
arms make it one of the most recognizable dinosaurs that roamed the planet. Yet if it weren't for
paleoartists, the T. rex would be just another fossilized skeleton in museums.

Paleoartists specialize in using scientific data to make images or models of long-extinct animals. In
the process, they take the prehistoric world out of the abstract and bring it to life for the rest of us.

Julius Csotonyi is a paleoartist. His art has been used in science papers, on coins, postage stamps
and murals. In addition to his artistic skills, he has advanced degrees in microbiology and ecology.
His background in science is very important to his job.

It "helps me understand how animals in their environment interact and how to accurately restore
prehistoric ecosystems," says Csotonyi. Ilis name is pronounced chit-a-nee.

Paleoart usually starts with a fossil. If the actual dinosaur fossil is unavailable, artists can usea 3- ™
D rotatable digital model or photographs. Paleoartists then work with the scientists to learn details

about the dinosaur's diet, behaviors and environment. From there, the artists build the image in

This article is available at 5 reading levels at hitps://newsela.com.



stages. First, they might settle on the overall shape of the animal, then work outward from the
skeleton, adding muscles, soft tissue and finally distinctive features such as skin, horns or crests.

Of course, dinosaurs are still mysterious and largely unknown. Paleoartists' challenge isto fillin
the missing pieces as realistically as possible. To do this, they use a combination of direct evidence
— what's known for sure — and indirect evidence from known environments.

Jennifer Hall, whose work has been in Scientific American magazine and on the History Channel,
looks for clues in similar living animals. For example, birdlike dinosaurs might have had bright
colors like modern-day birds. But if a dinosaur was frequently hunted, then "you probably want
something that you would see in our modern prey animals,” she says. "Whether it's mule deer,
which are more sandy in color and blend into the dry landscape, or zebras, which have stripes to
blend in with the vertical savanna."

Today we're learning more about dinosaurs than ever before. Previously unknown species are
being discovered regularly. We're also learning more about what they looked like. Fossilized
feathers have been found in rock and amber. Electron microscopy is revealing patterns found on
the dinosaur's skin. In some cases, it's even possible to know what colors they were.

The paleoartist's job is to render these discoveries in a way that sparks the imagination.
Sometimes that means using a bit of artistic flair — and even a dash of fun.

"T always think back to when I was visiting a particular aquarium, and there was a fish that was
blue, and its lips were blue with pink polka-dots," Csotonyi said. "It was real and it looked so
ridiculous. It makes me feel OK to come up with an outlandish idea every once in a while, because
these things do exist in nature."

This article is available at 5 reading levels at https:/mewsela.com.



Quiz

Which sentsnce from the article would be MOST important to intluds in a summary of the article?

(A)
(B)
(©)
(D)

Yet if it weren't for palecartists, the T. rex would be just another fossilized skeletan in museums.
Palecartists specialize in using scientific data to make images or medels of long-extinct animals.
Paleoartists' challenge is to fill in the missing pieces as raalistically as possible.

Sometimes that means using a bit of artistic flair — and even a dash of fun.

Read the following sentence from the article.

First, they might settle on the overall shape of the animal, then work outward from the skeleton,
adding muscles, soft tissue and finally distinctive features such as skin, horns or crests.

Hew does this detail develop the article's central idea?

(A)
8)
(€}
)

by highlighting the importance of technology to palecart
by explaining how palecart has changed over tine
by showing how paleoartists use environmental information in their designs

by describing how palecartists create images of extinct artimals

What is the author's MAIN purposs for including information about modern prey?

(A}
B)
(C}
(@)

to highlight how living animals are used by paleoartists to inform their work
to explain why paleoartists think some extinct animals were brightly colored
to describe why palecartists need to make their designs fun and interesting

to show how palecartists use technology to improve their images and designs

Read the selection from the article.

In addition fo his artistic skills, he has a doctorate in microbiology and a master's degree in
ecology. He considers his scientific background crucial to his job.

It "heips me understand how animals in their environment interact and how fo accurately restore
prehistoric ecosystems," says Csotonyi (pronounced chit-a-nee).

Why did the author include this selection?

(A)
(B)
(C)
©)

to show the connection between paleocart and human history
to explain the processes that paleoartists use to create images of extinct animals
to explain how paleoart helps us better understand modern-day animals

to highlight the relationship between palecart and science

This article is available at 5 reading levels at https://newsela.com.



m newsela

Understanding the science of animal
classification
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Image 1. An engraving depicting the Linnaean classification of plants into 24 orders from Simeon Shaw's "Nature Displayed," which was
published in 1823 in Londen, England. Photo by: Universal History Archive/Universal Images Group via Getly images

For centuries, the practice of naming and classifying living organisms into groups has been a key
part of the study of nature. The Greek philosopher Aristotle (384 B.C.-322 B.C.) developed the
first known method of classifying organisms. He grouped them according to whether they traveled
by air, land or water. A number of other naturalists followed with their own classification systems.
Today, the Swedish botanist Carolus (Carl) Linnaeus (1707-1778) is considered to be the pioneer of
modern taxonomy. Taxonomy is the science of classifying organisms.

In his book "Systema Naturae," first published in 1735, Linnaeus introduced a clever way to
classify and name organisms. This system, now referred to as Linnaean taxonomy, has been used
to varying extents ever since. '

About Linnaean Taxonomy

e~

Linnaean taxonomy categorizes organisms into a hierarchy, a family tree of relatedness. Linnaean
taxonomy today includes eight ranks: domain, kingdom, phylum, class, order, family, genus and

This article is available at 5 reading levels at https://newsela.com.



species.

Groups at the top of the hierarchy — domain, kingdom, phylum and class — are more broad in
definition and contain a greater number of organisms. The more specific groups that are lower in
the hierarchy — families, genera and species — have fewer. Genera is the plural of genus.

With each group of organisms assigned to a domain, kingdom, phylum, class, family, genus and
species, they can be uniquely characterized. Their membership in a group tells us about the traits
they share with other members of the group. It also tells us about traits that make them unique.

Many scientists and textbooks still use the Linnaean classification system to some extent today,
but it is no longer the only method for grouping and characterizing organisms.

To best understand the science of classification, it will help to first clarify a few basic terms.
Classification is the systematic grouping and naming of organisms based on shared structural
similarities, functional similarities or evolutionary history. Taxonomy is the science of classifying
organisms. Systematics is the study of the diversity of life and the relationships between
organisms.

Types Of Classification Systems

Phenetics is a method of classifying organisms that is based on their overall similarity in physical
characteristics and other observable traits. Phenetics does not take phylogeny — evolutionary
history of the group — into account.

Cladistics determines relationships between organisms based on their evolutionary history. In
order to evaluate evolutionary history, this classification method uses three kinds of analysis:
genetic, biochemical and morphological. Genetic analysis includes analysis of the DNA.
Biochemical analysts study the substances living things are made of and the chemical reactions
they involve. Morphological analysis takes into account such identifying factors as size, shape,
color, ete. Cladistics is also called phylogenetics or phylogenetic systematics.

In general, Linnaean taxonomy relies on phenetics. Yet the similar physical characteristics studied
in phenetics are often the product of shared evolutionary history. Linnaean taxonomy, therefore,
can indeed reflect the evolutionary background of a group of organisms.

Biological Classification

Biological classification changes often. As our knowledge of organisms expands, we gain a better
understanding of the similarities and differences among them. In turn, those similarities and
differences shape how we assign animals to the various groups, or taxa. Taxa refers to a group of
organisms that has been classified.

Factors That Shaped High-Order Taxohomy

In the 16th century, the microscope was invented. It revealed a minute world filled with countless
new organisms that had previously escaped classification because they were too tiny to see with
the naked eye.

Throughout the 20th century, there have been rapid advances in understanding evolution and
genetics. These advances continue to reshape our understanding of how organisms relate to one

This article is available at 5 reading levels at hitps:/newsela.com.



another. New understandings can change previous classifications. As a result, science is constantly
reorganizing the branches and leaves of the tree of life.

The history of taxonomy stretches back to the 4th century B.C. This was the time of Aristotle and
the natural philosophers, who were the first scientists. Since the first classification systems
emerged, scientists have wrestled with the task of how to organize life into various groups.

Let us examine how the highest-level taxa have changed throughout history. The three highest-
level taxa are domain, kingdom and phylum.

Classification Systems Based On Phenetics

Two Kingdoms - Aristotle

Aristotle was among the first to document the division of life forms into animals (animalia) and
plants (plantae). He introduced his two-kingdom classification system in the 4th century B.C.

Three Kingdoms - Ernst Haeckel

The three kingdom system was introduced by Ernst Haeckel in 1894. To the long-established two
kingdom system, Haeckel added the kingdom Protista, which included two phyla: one for single-
celled eukaryotes and one for bacteria, which are prokaryotes. All life is composed of either
eukaryotic cells, which have a nucleus, or prokaryotic cells, which do not.

Four Kingdoms - Herbert Copeland

Herbert Copeland added the kingdom Bacteria in 1956. This reflected the growing understanding
that bacteria — single-celled prokaryotes — were very different from single-celled eukaryotes. In
making this change, Copeland elevated Haeckel's two Protista phyla to the level of kingdom.

Five Kingdoms - Robert Whittaker

Robert Whittaker's 1959 classification added a fifth kingdom, Fungi, to Copeland's four. Fungi
include single and multi-cellular osmotrophic eukaryotes. Osmotrophic describes life forms that
absorb nutrients by osmosis.

Classification Systems Based On Cladistics/Phylogeny

Six Kingdoms - Carl Woese

In 1977, Carl Woese extended Whittaker's Five Kingdoms, replacing the kingdom of Bacteria with
two kingdoms, Eubacteria and Archaebacteria. Eubacteria and Archaebacteria differ from each
other in many complex ways. The differences were revealed by molecular genetic analysis.

Three Domains - Carl Woese

In 1990, Carl Woese put forth a classification plan that greatly overhauled previous classification
plans. The three-domain system he proposed is based on studies in molecular biology and it
resulted in the placement of organisms into three domains: bacteria, archaea and eukarya.

This article is available at 5 reading levels at https://hewsela.com.



Quiz

Which section of the article BEST explains why cladistics and phenetics are not entirely distinct classification methods?

{A) *Types of Classification Systems"

(B) "Biological Classification”

(C) *Classification Systems Based On Phenetics”

{»)] *Classification Systems Based On Cladistics/Phylogeny”

Read the following statement.

Linnaean taxonomy communicates both the common and distinct features of an organism.

Which selection from the article provides the BEST support for the statement above?

{A) Groups at the top of the hierarchy — domain, kingdom, phylum and class — are more broad in definition
and contain a greater number of organisms., The more specific groups that are lower in the hierarchy —
families, genera and species — have fewer,

(B) With each group of organisms assigned tc a domain, kingdom, phylum, class, family, genus and
species, they can be uniquely characterized. Their membership in a group tells us about the traits thay
share with other members of the group. It also tells us about traits that make them unique.

(G Classification is the systematic grouping and naming of organisms based on shared structural
similarities, functional similarities or evolutionary history. Taxenomy is the science of classifying
organisms.

(D) As our knowledge of organisms expands, we gain a better understanding of the similariies and

differences among them. In turn, those similarities and differences shape how we assign animals to the
various groups, or taxa.

Which of the following MOST influenced the changing nature of classification systems?

{A) the shift from phenetic to cladistic methods

(B) Aristotle's division of organisms into animal and plant kingdoms
(C) the development of Linnaean taxonomy

D) the rapid advancement of science and technology

Why was Carolus {Carl) Linnagus cansidered a pioneer of modern taxonomy?

(A} He was the first naturalist to develop an effective system for classifying organisms.

(B} His system of categorizing organisms into a hierarchy is still used in modern classffication systems.

(C) His use of phenetics inspired other scientists to continue to use this method of classification.

(D) He was the first to understand that shared evolutionary history produces similar physical characteristics.

This article is available at 5 reading levels at hitps:/newsela.com.
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How political parties pick their presidential
nominees

By Christina Barron, Washington Post on 03.11.20
Word Count 618
Level MAX

limage 1. The nomineces for the 2016 prasidential election, Republican nominee Donald Trump and Democratic nominee Hillary Clintan,
shake hands during the presidential debale at Hofstra University in Hempsiead, New York, on Seplember 26, 2016. Photo: David
Goldman/AP Fhoto

In a presidential election year, Tuesdays are very important. The biggest is the first Tuesday in
November, or Election Day. On that day, as you probably know, Americans vote for a president
usually from the major-party candidates. But first, through June, voters will help political parties

pick their nominees.
Who Can Be Elected President?

There are a few rules mentioned in the Constitution. A person must be at least 35 years old, a U.S.
resident for at least 14 years and a "natural-born" U.S. citizen. The term "natural born" is a little

 fuzzy, but generally it means a citizen from birth, including people born in other countries who

have a U.S. citizen parent.

Who Is Running In 20207



' The two main political parties, the Democratic Party and the Republican Party, will nominate one
person for president. In the Democratic Party, there are three candidates. The Republican Party
has two. There are minor-party candidates and independents, too, but the major parties generally

. dominate the election process.

Who Elects The President?

When the Constitution was written, generally only white men who owned property could vote.
Today, citizens who are age 18 and older can vote in the presidential election. Many of them don't
vote, however. In 2016, only 61.6 percent of eligible voters cast ballots, according to the U.S.
Census Bureau. That's a lot lower than countries such as Australia, Sweden and Germany.

How Do Voters Pick A Candidate?

Most voters have issues that are important to them.
The issues might include health care, education, the
economy, immigration, climate change or gun control.
The candidates usually campaign for months, making
speeches, buying ads, taking part in debates and
hosting community rallies. They also post their views
on these topics on campaign websites. Journalists
research the candidates' proposals and examine their
backgrounds to give voters additional information.

How Does The Voting Process Work?

There are two methods: state primaries and caucuses. Most states have primaries. In a primary,
voters select one candidate on a ballot. Each state political party makes its own rules for getting on
the ballot, so voters in different states may have different choices. Candidates earn delegates to a
party's national convention based on how many votes they get.

In traditional caucuses, voters who are registered with a political party meet in schools or
community centers to talk (and sometimes argue) about the candidates. They form groups at these
meetings based on which candidate they support. Candidates with a certain percentage of
supporters earn delegates. This year, the Iowa Democratic Party allowed voters to participate
online, but this process had technical glitches that delayed the results by weeks.

When Will The Parties Choose Their Nominees?

State parties will send delegates to national conventions, where they will nominate one person for
the Democratic Party and one person for the Republican Party. Democrats will meet for this
purpose in mid-July; Republicans in late August. The nominees will also announce, if they haven't
already, who will run with them as vice president.

By late August, many voters will focus on just the two people chosen by the major parties. A choice
_ of two may seem easy, but it's an important decision. And even though kids can't vote, it doesn't
mean you can't be part of the process. Learn about the candidates. Also, talk to classmates,
teachers and family members. You might get adults thinking that the next generation of voters
already has voices that need to be heard.



et

Quiz

Read the section "How Do Voters Pick A Candidate?"

Select the sentence from the article that suggests voters need help determining who should be president.

(A) The issues might include health cars, education, the economy, immigration, climate change or gun
control.

(B) The candidates usuaily campaign for months, making speeches, buying ads, taking part in debates and
hosting community rallies.

(C) They also post their views on these topics on campaign websites.

{D) Journalists research the candidates' proposals and examine their backgrounds to give voters additional
information.

Read the inference below.

Many citizens are not engaged in the process of selecting the president.

Which sentence from the article provides the BEST support for the statement above?

A On that day, as you probably know, Americans vote for a president usually from the major-party
" candidates.
{B) When the Constitution was written, generally only white men who owned property could vote.
(C) In 2018, only 61.6 percent of eligible voters cast baliots, according to the U.S. Census Bureau.
(D) In traditional caucuses, voters who are registered with a political party meet in schools or community

centers to talk (and sometimes argue) about the candidates.

Read the fallowing sentence from the article.

The candidates usually campaign for months, making speeches, buying ads, taking part in
debates and hosting community rallies.

How does this detail develop the article's central idea?

(A) by explaining what candidates have to do to earn voters' approval

(B} by listing events that lead up to the national conventions for each party

(C) by highlighting the amount of money spent during the presidential campaign

(D) by emphasizing the long process of campaigning through the primaries and caucuses

Which sentence from the article would be MOST important to include in a summary of the article?

(A) In a presidential election year, Tuesdays are very important.

(B) The term "natural born" is a little fuzzy, but generally it means a citizen from birth, inctuding people barn
in other countrias who have a U.S. citizen parent.

(C) That's a lot lower than countries such as Australia, Sweden and Germany.

{D} State parties will send delegates to national conventions, where they will nominate one person for the

Democratic Party and one person for the Republican Party.
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Force and Motion Vocabulary

Force is a push or a pult

Newton (N) the unit for force
Balanced Forces equal but opposite; occurs when the net

forces on an object equals "zero” and the
objects motion does NOT change

Unbalanced Forces when the net forces on an object does
NOT equal "zero" and the objects motion
does change

Gravity force of attraction between 2 objects;
determined by the mass of the objects
and the distance between them

Weight a measure of the force of gravity on an
object's mass

Mass : ' is the amount of matter or stuff in an
object

Friction a force that acts in the opposite direction
of motion

Air Resistance a fluid frictional force on falling objects
that opposes gravity

Speed the rate in which an object moves:

| calculated by distance / time
Acceleration | ‘the change in velocity over a period of
time
Newton's 1st Law of Motion an object at rest will stay at rest and an

object in motion will stay in motion until an
-outside force acts upon it

Newton's 2nd Law of Motion explains the relationship between
acceleration, mass and force;
Farce=Mass x Acceleration

Newton's 3rd Law of Motion for every action there is an equal and
opposite reaction



Force and Mofion Vocabuiary

Motion

Velocity
Electric
Magnetic

Centripetal
Applied

Normal

Tension

caused by unbalanced forces acting on
an object

‘speed in a certain direction

force caused by non-moving charges

force caused by moving charges

it causes objects to travel in a circular
path :

~ ‘aforce exerted on an object by a person
-or another object

the support force exerted upon an object
that is in contact with another stable
object

force that is transmitted through a string,
rops, cable or wire when it is pulled tight
by forces acting from opposite ends:



FORCE AND MOTION VOCABULARY TEST

1. explains the relationship between acceleration, mass and force;
Force=Mass x Acceleration

A. Newton’s 1t Law | C. Newton’s 3 Law
B. Newton’s 2 Law D. motion

____2. an object at rest will stay at rest and an object in motion will stay in motion
until an outside force acts upon it

A. Newton’s 1st Law C. Newton’s 3~ Law
B. Newton’s 2~ Law D. motion

3. caused by unbalanced forces acting on an object

A. Newton’s 1t Law C. Newton’s 3% Law
B. Newton’s 2™ Law D. motion

4, for every action there is an equal and opposite reaction

A. Newton’s 1st Law C. Newton’s 37 Law
B. Newton’s 2 Law D. motion

5. is a push or a pull

A. Unbalanced force  C. newton
B. Bailanced force D. force

6. the unit for force

A. Unbalanced force C. newton
B. Balanced force D. force

____7. equal but opposite; occurs when the net forces on an object equals "zero
and the objects motion does NOT change

A. Unbalanced force C. newton
B. Balanced force D. force

___8. when the net forces on an object does NOT equal "zero" and the objects
motion does change



A. Unbalanced force C. newton
B. Balanced force D. force

___9. force of attraction between 2 objects; determined by the mass of the
objects and the distance between them

A. Weight C. friction
B. Gravity D. mass

___10. a measure of the force of gravity on an object's mass

A. Weight C. friction
B. Gravity D. mass

___11. is the amount of matter or stuff in an object

A. Weight C. friction
B. Gravity D. mass
__12. aforce that acts in the opposite direction of motion
A, Weight C. friction
B. Gravity D. mass

____13. afluid frictional force on falling objects that opposes gravity

A. Speed C. acceleration
B. Air resistance D. velocity

___14. the rate in which an object moves: calculated by distance / time

A. Speed C. acceleration
B. Air resistance D. velocity

___15. the change in velocity over a period of time

A. Speed C. acceleration
B. Air resistance D. velocity

___16.speed in a certain direction

A. Speed C. acceleration
B. Air resistance D. velocity



___17. force caused by non-moving charges

A. Electric C. centripetal
B. Magnetic D. applied

__18. force caused by moving charges
A. Electric C. centripetal
B. Magnetic D. applied

___19. it causes objects to travel in a circular path

A. Electric C. centripetal
B. Magnetic D. applied

___20. aforce exerted on an object by a person or ancther object

A. Electric C. centripetal
B. Magnetic D. applied

___21. the support force exerted upon an object that is in contact with another

stable object
A. Electric C. centripetal
B. normal D. tension

__22.force that is transmitted through a string, rope, cable or wire when it is
pulled tight by forces acting from opposite ends

A, Electric C. centripetal
B. normal D. tension



Name: Teacher: Pd. Date:

Newton’s Second Law of Motion Problems Worksheet

Newton’s Second Law of Motion, sometimes called the law _of force and
motion or law of acceleration, states that:

An object acted on by an unbalanced force will accelerate in
the direction of that force, in direct proportion to the
strength of the force, and in inverse proportion to the mass
of the object.

Newton’s second law is best described with a mathematical equation that relates
three variables, force, acceleration and mass, to one another. The equation can be
stated in three forms:

force = mass ¢ acceleration f = mea

acceleration m = f/a

acceleration = force a=f/m
mass

In the first set of problems below, you will be given the mass of an object and the
acceleration of that object, and then will need to solve for force, using the equation
F = ma. In other words, you will need to multiply the mass times the acceleration
to calculate the force. Be sure to convert any mass stated in grams into kifograms,
by dividing it by 1000 (moving the decimal place over three places to the left). For
example, 1000 grams is equal to 1 kilogram. Be sure to state the proper units in
your answer, and state each answer to the nearest tenth of a unit, to match the
accuracy of the measurements.

1.  An object with a mass of 2.0 kg accelerates 2.0 m/s? when an unknown force

is applied to it. What is the amount of the force?

2.  An object with a mass of 5.0 kg accelerates 8.0 m/s? when an unknown force
Is applied to it. What is the amount of the force?

3.  An object with a mass of 1500 g (grams) accelerates 10.0 m/s? when an
unknown force is applied to it. What is the amount of the force?




4.  An object with a mass of 6.0 kg accelerates 4.0 m/s* when an unknown force
is applied to it. What is the amount of the force?

5. An object with a mass of 7.5 kg accelerates 8.3 m/s? when an unknown force
is applied to it. What is the amount of the force?

6. An object with a mass of 2000 g accelerates 8.3 m/s? when an unknown force
is applied to it. What is the amount of the force?

In the second set of problems below, you will be given the force applied to an
object and the acceleration of that object, and then will need to solve for mass,
using the equation m = F/a. In other words, you will need to divide the force by
the acceleration to calculate the mass. Show your work in the space provided. Be
sure to state the proper units in your answer, and state each answer to the nearest
tenth of a unit, to match the accuracy of the measurements.

7. An object accelerates 3.0 m/s? when a force of 6.0 newtons is applied to it.
What is the mass of the object?

8. An object accelerates 12.0 m/s® when a force of 6.0 newtons is applied to it.
What is the mass of the object?

9. An object accelerates 5.0 m/s? when a force of 20.0 newtons is applied to it.

What is the mass of the object?

10. An object accelerates 2.0 m/s? when a force of 12.0 newtons is applied to it.
What is the mass of the object?

11. An object accelerates 7.2 m/s? when a force of 4.0 newtons is applied to it.
What is the mass of the object?

12. An object accelerates 16.3 m/s? when a force of 4.6 newtons is applied to it.

What is the mass of the object?

In the third set of problems below, you will be given the force applied to an object
and the mass of that object, and then will need to soive for acceleration, using the
equation a = Ff/m. In other words, you will need to divide the force by the mass to
calculate the acceleration. Be sure to convert any mass stated in grams into
kilograms, by dividing it by 1000 (moving the decimal place over three places to
the left). For example, 1000 grams is equal to 1 kilogram. Show your work in the
space provided, Be sure to state the proper units in your answer, and state each
answer to the nearest tenth of a unit, to match the accuracy of the measurements.



13. An object with a mass of 2.0 kg has a force of 4.0 newtons applied to it.

What is the resulting acceleration of the object?

14. An object with a mass of 5.0 kg has a force of 20.0 newtons applied to it.
What is the resulting acceleration of the object?

15. An object with a mass of 20.0 kg has a force of 5.0 newtons applied to it.
What is the resulting acceleration of the object?

16. An object with a mass of 3.0 kg has a force of 9.0 newtons applied to it.
What is the resulting acceleration of the object?

17. An object with @ mass of 2300 g has a force of 6.2 newtons applied to it.
What is the resulting acceleration of the object?

18. An object with a mass of 3.2 kg has a force of 7.3 newtons applied to it.
What is the resulting acceleration of the object?

In the following problems, solve for the missing variable, using the two variables

provided.

19. An object accelerates 8.2 m/s® when a force of 20.1 newtons is applied to it.
What is the mass of the object?

20. An object with a mass of 6.3 kg has a force of 7.1 newtons applied to it.
What is the resulting acceleration of the object?

21. An object with a mass of 6.5 kg accelerates 12.3 m/s? when an unknown
force is applied to it. What is the amount of the force?




_Ntl_me: ANSWER \4'5 : o

An object acted On by ar
the direction of that fore
strength of the force, and in'inv
of the object. RS

o the mass

Newton S second law is best deSr:ribed wl_, ‘ iafica! equatlon that relates
~ three variables, force, acceleratlon and mas‘ 4 __one anotherf The equation can be
-stated in three forms: . S e San L e

n force = mass . accel ratlon ‘ --:-;f = mea
s TN Skg e s
‘mass = f":"f.‘,’."@ - N
| acceleration - m=f/a
acceleration =____force ' [3=¢/m
‘mass -

In the first set of problems below, you will be given the mass of an object and the
acceleration of that object, and then will need to solve for force, using the equation
F = ma. In other words, you will need to multiply the mass times the acceleration
to calculate the force. Be sure to convert any mass stated in grams into kilograms,
by dividing it by 1000 (moving the decimal place over three places to the left). For
example, 1000 grams is equal to 1 kilogram. Be stire to state the proper units in
your answer, and state each answer to the nearest tenth of a unit, to match the

accuracy of the measurements.

1.  An object with a mass of 2.0 kg accelerates 2.0 m/s? when an unknown force
is applied to it. What is the amount of the force? _<.0 \*.q X - O Wf’e‘: "‘“\J

~.

2. An object with a mass of 5.0 kg dccelerates 8.0 m/s when an unknown force

is applred to it. What is the amount of the force? 2:C 22) X §.0mfs* > Lo

' =z ALS
3.  An object with a mass of 1500 g (gram;aacceterates 10.0 m/s® when an

_unknown force is applied to it. What is the amount of the force?

2. S¥a 0 fs” = 1SN




13. An object with a r'nésé’ é'fﬂ
- What is the resulting acce!eratio_ 0

14, An object with a mass: of 5 0 Akg
‘What is the resultmg acceleration of the .ebjec

15. An object with a mass of 20 0 kg has a force of 5, 0 newtons applied to it.

/4o Js?

What is the resultmg acceleratlon of the object? S 20&‘3

T 5.85 m)s?
16. An object with a mass of 3. 0 kg has a force of 9,0 newtons apphed to it.
What is the resulting acceleration of the object‘? C’LM} :?) m)s

17. An object wuth a mass of 2300 g has a t%?le of 6 2 newtons applied to it.
2Nasxg 2 Fmfs?

What is the resulting acce!eratlon of the ob;ect’

18, An object with a mass of 3 2 kg hasa force of 7. 3 newtons applled to it.

/szm = 5ml32‘

What is the resulting acceleration of the ob}ect?
In the following problems, solve for the missing variable, using the two yariables
provided. ' ' ‘

19. An object accelerates 8.2 m/s when a force of 20.1 newtons is applied to it.

™. 1
‘What is the mass of the object? Mj 82 mjs™ =0.41 \i\g

20. An object wuth a mass of 6.3 kg has a force of 7 1 newtons applied to.it.

/@Bm«nm/s

What is the resuiting acceleration of the obJect?

21. An object with a mass of 6.5 kg accelerates 12.3 m/s? when an unknown .
force is applied to it, What is the amount of the force? - Ska X 2 E’Wﬁ

P FON
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